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The following table shows the percentage (%) distribution of expenses in agriculture under different budget heads, namely fertilizer,
feed, seed, electricity and diesel, and others in the year 2012 and 2022. Total amount of expenditure incurred on all the different heads
in 2012 and 2022 is ¥ 30864 crores and ¥ 70698 crores respectively. Based on the data in the table, answer the questions that follow.

Year-wise Expenses in Agriculture

ear
Budget Head
2012 2022
Fertilizer 175% 26.8%
Feed 29 5% 195%
Seed 18.5% 145%
Electricity and Diesel 1.8% 8.6%
Others 26.1% 26.6%

Sub questions

Question Number : 1 Question Id : 2274276701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The expenditure on Electricity and Diesel in 2022 exceeded similar expenditure in 2012 by approximately

1. 31640 crores
2. <1852 crores
3. < 3673 crores
4 % 3704 crores

Options:

22742726101. 1
22742726102. 2
22742726103.3
22742726104. 4



Question Number : 2 Question Id : 2274276702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The expenditure on fertilizer in 2022 is approximately times more than that in 2012.

Options :

22742726105. 1
22742726106. 2
22742726107.3

22742726108. 4

Question Number : 3 Question Id : 2274276703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The expenditure on fertilizer and Feed in 2012 amounted to approximately

1.3 14506 crores
2.3 16000 crores
3.3 14000 crores
4. % 7084 crores

Options :

22742726109. 1
22742726110. 2
22742726111.3

22742726112. 4

Question Number : 4 Question Id : 2274276704 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The expenditure on Feed in 2022 as compared to that in 2012, was approximately

51 % less
53 % more
53 % less

51 % maore

L L

=

Options :

22742726113. 1
22742726114. 2
22742726115. 3

22742726116. 4

Question Number : 5 Question Id : 2274276705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In terms of actual expenditure on Electricity and Deisel, the increase in 2022, as compared to 2012, was

1.1.91 times
2 153 times
3. 194 times
4 183 times
Options :
22742726117. 1
22742726118. 2
22742726119. 3

22742726120. 4

Question Id : 2274276700 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)



Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 2274276701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726101.1
22742726102. 2
22742726103. 3
22742726104. 4



Question Number : 2 Question Id : 2274276702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726105. 1
22742726106. 2
22742726107. 3

22742726108. 4

Question Number : 3 Question Id : 2274276703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
2012 H AP T SHTER W A1 Y THTHT a1 412

1.3 14506 BUS
2. T 16000 P13
3.3 14000 T3
4 % 7084 DS
Options:
227427261009. 1
22742726110. 2
22742726111.3

22742726112. 4

Question Number : 4 Question Id : 2274276704 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726113. 1
22742726114. 2
22742726115. 3

22742726116. 4

Question Number : 5 Question Id : 2274276705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726117. 1
22742726118. 2
22742726119.3

22742726120. 4

Sub-Section Number : 2
Sub-Section Id : 227427264
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 6 Question Id : 2274276706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the characteristics of a good test?
A. Objectivity

B. Validity

C. Comprehensiveness

D. Diagnosticity

E. Practicability

Choose the correct answer from the options given below:

1.A B, DandE only
2ABCDandE
3. Band D only

4 C and E only

Options:

22742726121. 1
22742726122. 2
22742726123.3
22742726124. 4

Question Number : 6 Question Id : 2274276706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427261211
22742726122. 2
22742726123.3
22742726124. 4

Question Number : 7 Question Id : 2274276707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The memory for general knowledge and facts about the world, as well as memory for the rules of logic that are used to deduce other facts is
known as:

1. Temporary memary
2. Semantic memory
3. lconic memory

4 General memory

Options:
22742726125. 1
22742726126. 2

22742726127. 3



22742726128. 4

Question Number : 7 Question Id : 2274276707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742726125. 1
22742726126. 2
227427261273

22742726128. 4

Question Number : 8 Question Id : 2274276708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Carl Rogers is a proponent of non-directive model of teaching.

Statement (I1): Rogers extended to education his view of therapy as a mode of learning.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (II) are correct.

2. Both Statement (1) and Statement (I1) are incorrect
3. Statement (1) is correct but Statement (I1) is incorrect
4 Statement (1) is incorrect but Statement (I1) is correct

Options :

22742726129.1



22742726130. 2
22742726131. 3

22742726132. 4

Question Number : 8 Question Id : 2274276708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726129. 1
22742726130. 2
22742726131. 3

22742726132. 4

Question Number : 9 Question Id : 2274276709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement (I): Learning is also considered as a social construct.

Statement (I1): Social construct is characterised by development of socially desired behaviour.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I) are correct.

2. Both Statement (1) and Statement (Il) are incorrect.
3. Statement (1) is correct but Statement (I} is incorrect.
4 Statement (1) is incorrect but Statement (Il) is correct.

Options :

227427261331
22742726134. 2
22742726135.3
22742726136. 4

Question Number : 9 Question Id : 2274276709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742726133. 1
22742726134. 2

22742726135. 3



22742726136. 4

Question Number : 10 Question Id : 2274276710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match List-| with List-ll

List| Listll
Domains of Teaching Responsibility/ Components of Domains

A Planning and Preparation |. Communicating with students

B. Instruction |l. Establishing a culture for leaming
C. Classroom Environment lll. Reflecting on teaching

D. Professional Responsibilities IV Setting instructional outcomes

Choose the correct answer from the options given below:

1.A-WV,B-1,C-IlIl,D-Il
2A-V,B-1,C-II,D-1N
JA-ILB-IV,C-I,D-1l
4 A-1,B-IV,C-Ill,D-1

Options:

22742726137. 1
22742726138. 2
22742726139. 3
22742726140. 4

Question Number : 10 Question Id : 2274276710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726137. 1
22742726138. 2
22742726139. 3

22742726140. 4

Question Number : 11 Question Id : 2274276711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An antological position which asserts that social phenomena and their meanings are continually being accomplished by social which actors,
refers to

1. Objectivism

2. Gonstructionism
3. Interpretivism
4 Positivism

Options :

22742726141. 1
22742726142. 2
22742726143.3

22742726144. 4

Question Number : 11 Question Id : 2274276711 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742726141. 1
22742726142. 2
22742726143.3

22742726144. 4

Question Number : 12 Question Id : 2274276712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main preoccupations of guantitative researchers are:
A_measurement

B. causality

C. generalization

D. replication

Choose the correct answer from the options given below:

1. Aand B only

2. B, CandD only
3 A CandD only
4 A/B, CandD

Options :

22742726145. 1



22742726146. 2
22742726147. 3

22742726148. 4

Question Number : 12 Question Id : 2274276712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742726145. 1
22742726146. 2
227427261473

22742726148. 4

Question Number : 13 Question Id : 2274276713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



|dentify the bibliographic softwares among the following:
A Turnitin

B. EndNote

C. Reference Manager

D. Mendeley

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A BandD only
4 A CandD only

Options :

22742726149. 1
22742726150. 2
22742726151. 3

22742726152. 4

Question Number : 13 Question Id : 2274276713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726149. 1

22742726150. 2

22742726151. 3

22742726152. 4

Question Number : 14 Question Id : 2274276714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The mean and standard deviation of 70 observations are 47 and 9, respectively. If 3 is subtracted from each observation, the new mean and
standard deviation will b

1446
2449
3476
44473

Options:

22742726153. 1
22742726154, 2
22742726155.3

22742726156. 4



Question Number : 14 Question Id : 2274276714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742726153. 1
22742726154. 2
22742726155. 3

22742726156. 4

Question Number : 15 Question Id : 2274276715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): SPSS Is an open-source software for data analysis.

Statement (I1): Turnitin is a very useful software for statistical data analysis.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are correct.

2. Both Statement (1) and Statement (11) are incorrect
3. Statement (1) is correct but Statement (I1) 1s incorrect
4 Statement (1) is incorrect but Statement (I1) is correct
Options :

22742726157. 1

22742726158. 2



22742726159. 3

22742726160. 4

Question Number : 15 Question Id : 2274276715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726157. 1

22742726158, 2

227427261509. 3

22742726160. 4

Question Number : 16 Question Id : 2274276716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Mirroring another person’s non-verbal behaviour facilitates

1. Resistance
2. Restriction

3. Regression
4 Compliance

Options :



22742726161.1
22742726162. 2
22742726163. 3

22742726164. 4

Question Number : 16 Question Id : 2274276716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742726161. 1
22742726162. 2
22742726163. 3

22742726164. 4

Question Number : 17 Question Id : 2274276717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Buddhism contains a well-developed model of communication.

1. Business

2. Mass

3. Inter-personal
4 QOrganisational
Options :
22742726165. 1

22742726166. 2



22742726167. 3

22742726168. 4

Question Number : 17 Question Id : 2274276717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742726165. 1
22742726166. 2
22742726167.3

22742726168. 4

Question Number : 18 Question Id : 2274276718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are identified as non-verbal practices of communication?
A. Mimicking Speeches

B. Accent

C. Posture

D. Gait

E. Dress

Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 A DandE only

Options :

22742726169. 1
22742726170. 2
22742726171.3
22742726172. 4

Question Number : 18 Question Id : 2274276718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726169. 1
22742726170. 2
22742726171.3

22742726172. 4

Question Number : 19 Question Id : 2274276719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Shannon and Weaver model of communication has which of the following characteristics?
A_ltis linear.

B. It focusses on transmission of information.

C. It is concerned with reproduction of messages from one point to another.

D. It offers a meta model of communication

E. The feedback component is circular.

Choose the correct answer from the options given below:

1. A, Band C only
2. B, Cand D only
3.C,DandE only
4 A DandE only

Options :

227427261731
22742726174. 2
22742726175. 3

22742726176. 4

Question Number : 19 Question Id : 2274276719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. BadA B3R C
2 ®dd B, C AR D
3. ®add C, D3RE
4 HadA DIARE

Options :

227427261731
22742726174. 2
22742726175.3

22742726176. 4

Question Number : 20 Question Id : 2274276720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Communication is a symholic process and as such depends upon symbols that are both arbitrary and conventional.
Statement (I): Different symbols cannot be selected to represent an object or idea to communicate.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) Is frue but Statement (1) Is false.
4 Statement (1) Is false but Statement (1) is true.

Options:



22742726177.1
22742726178. 2
22742726179. 3

22742726180. 4

Question Number : 20 Question Id : 2274276720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427261771
22742726178. 2
22742726179. 3

22742726180. 4

Question Number : 21 Question Id : 2274276721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A person buys a mobile phone from a shop for Rs. 7600.00. The shopkeeper makes a profit of 20% at the cost price. WhatIs the cost price of the
mobile phone?

1.36500

236240

3. 35660

4 36600
Options :
22742726181. 1
22742726182. 2
22742726183.3

22742726184. 4

Question Number : 21 Question Id : 2274276721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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1.36500

2 36240

3 35860

4 36800

Options:
22742726181. 1
22742726182. 2
22742726183.3

22742726184. 4

Question Number : 22 Question Id : 2274276722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Two railway stations Aand B are 380 km apart. Train- 1 leaves station Aat 7:00 AM moving with a speed of 80 km/hour towards B. After half an
hour Train- 2 leaves station B towards A moving with speed of 90 km/hour, At what time, the two trains will cross each other?

1.845AM

2. 900AM

3 930AM

4 1015AM
Options :
22742726185. 1
22742726186. 2
22742726187.3

22742726188. 4

Question Number : 22 Question Id : 2274276722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1.7 845

2 JiE 900

3 JIE 930

4 JIE 1045
Options:
22742726185. 1
22742726186. 2
22742726187.3

22742726188. 4

Question Number : 23 Question Id : 2274276723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

1.30

2.45

375

4.25

Options :
22742726189. 1
22742726190. 2
22742726191. 3

22742726192. 4

Question Number : 23 Question Id : 2274276723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726189. 1
22742726190. 2
22742726191. 3
22742726192. 4

Question Number : 24 Question Id : 2274276724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The monthly expenses (in thousand ) of a family during a year from January to December months were 16, 19, 18 23, 24 28 26,19, 19, 22
20 and 18, respectively.

In which of the months the deviation of the expenses from the average monihly expanses of the year was the least?

1. February, August and September
2. June and July

3. March, August and September

4 October and November

Options :

22742726193. 1
22742726194. 2
22742726195. 3
22742726196. 4

Question Number : 24 Question Id : 2274276724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742726193. 1
22742726194. 2
22742726195. 3

22742726196. 4

Question Number : 25 Question Id : 2274276725 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The first term in an arithmetic series of 100 terms is 7. If the last term is 205 what is the 71th term of the series?

Options :

22742726197. 1
22742726198. 2
22742726199. 3

22742726200. 4

Question Number : 25 Question Id : 2274276725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1.157

2. 151

3147

4161

Options :
22742726197. 1
22742726198. 2
22742726199. 3

22742726200. 4

Question Number : 26 Question Id : 2274276726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

As per square of opposition, which of the following propositions are contradictories?
A_All birds are apes.

B. No birds are apes

C. Some birds are apes

D. Some birds are not apes.

Choose the correct answer from the options given below:

1. C and D only
2 Aand C only
3. Band C only
4 B and D only

Options :

22742726201. 1
22742726202. 2
22742726203. 3

22742726204. 4

Question Number : 26 Question Id : 2274276726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726201. 1
22742726202. 2
22742726203. 3
22742726204. 4

Question Number : 27 Question Id : 2274276727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent?
A All non-apes are non-monkeys.

B. No apes are non-monkeys.

C. No monkeys are non-apes.

D. All monkeys are apes.

Choose the correct answer from the options given below:

1. A, CandD only
2. B and D only
3. A BandC only
4. B and C only

Options :

22742726205. 1
22742726206. 2
22742726207. 3
22742726208. 4

Question Number : 27 Question Id : 2274276727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726205. 1
22742726206. 2
22742726207. 3
22742726208. 4

Question Number : 28 Question Id : 2274276728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



As per square of opposttion, if the statement- “All apes are mammals” is given as true, which of the following statements can be immediately
inferred fo be false?

A No apes are mammals.

B. Some apes are mammals

C. Some mammals are apes.

D. Some apes are not mammls.

Choose the correct answer from the options given below:

1. Aonly
2.Donly

3. Aand D only

4 A Cand D only

Options :

227427262009. 1
22742726210. 2
22742726211.3

22742726212. 4

Question Number : 28 Question Id : 2274276728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726209. 1
22742726210. 2
22742726211.3
22742726212. 4

Question Number : 29 Question Id : 2274276729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“Either you let me go to Las Vegas for a vacation or | wil be miserable for the rest of my life. | am sure you don't want to See me miserable 50
you have a clear decision fo allow me to go for a vacation to Las Vegas." Which fallacy is committed in this statement?

1. Appeal o force

2. False Dichotomy
J. False Cause

4 Complex Question

Options:

227427262131
22742726214. 2
22742726215. 3

22742726216. 4



Question Number : 29 Question Id : 2274276729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742726213. 1
22742726214, 2
22742726215. 3

22742726216. 4

Question Number : 30 Question Id : 2274276730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one Is [abelled as Assertion (A) and other one [abelled as Reason (R).

Assertion (A) - According to classical Indian view of logic the argument - Fire is cold. because it is & substance’is fallacious.

Reason (R) : As per classical Indian view of logic the argument- Fire s cold, because it s & substance’ Involves a middle term that is not
exclusive

In ight of the ahove statements, choose the comect answer from the options given below.

1. Both (A) and (R) are true and (R) is the carrect explanation of (A)

2 Both (A) and (R) are true but (R) s NOT the comect explanation of (A).
3 (A) s true but (R) Is false.

4 (A) s false but (R) 1s true.

Options :

22742726217.1



22742726218. 2
22742726219. 3

22742726220. 4

Question Number : 30 Question Id : 2274276730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726217. 1
22742726218. 2
22742726219. 3

22742726220. 4

Question Number : 31 Question Id : 2274276731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The transmission time required for sending 512-hyte packet using a 56 kilobits (1 kilo = 1000) per second modem is about

1. 7 milliseconds

2. 43 milliseconds
3. 73 milliseconds
4 80 millseconds



Options :

22742726221. 1
22742726222, 2
22742726223. 3

22742726224. 4

Question Number : 31 Question Id : 2274276731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

56 facilfae (1 ool = 1000) Wi 9 o i 1 M & 512-15¢ Jehe Ut 6 B ST TH AT foefT T2

1.7 fircieds
2. 43 ficiieds
3. 73 frfcds
4. 80 frreiieds
Options :
22742726221. 1
22742726222. 2
22742726223. 3

22742726224. 4

Question Number : 32 Question Id : 2274276732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If (P)s represents the number P in base -8 number system, then (124)s + (165)g =

1. (201)g
2. (289)4p
3. (274)3
4. (31)g

Options :

22742726225. 1



22742726226. 2
22742726227. 3

22742726228. 4

Question Number : 32 Question Id : 2274276732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

M
P

e (P)g 99 - 8 H3&T YUl H T P & UGiRid &l 6, af (124)g + (165)g =

1. (201)g

2. (289)4p

3. (274)9

4 (311)g
Options:
22742726225. 1
22742726226. 2
22742726227.3

22742726228. 4

Question Number : 33 Question Id : 2274276733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement (I): The Internet is not regulated in India; therefore, the information may be biased or inaccurate.
Statement (I): The Internet is one of the services offered by World Wide Web (WWW).

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (I1) are false.
3. Statement (1) is true but Statement (Il is false.
4. Statement (1) Is false but Statement (I1) is frue.

Options :

22742726229. 1
22742726230. 2
22742726231.3
22742726232. 4

Question Number : 33 Question Id : 2274276733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742726229. 1
22742726230. 2

22742726231. 3



22742726232. 4

Question Number : 34 Question Id : 2274276734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is/are true regarding ICT?

A Encryption is the scrambling of data thereby destroying computer viruses and preventing unauthorised access to computer systems.
B. Microblog is very much restricted on the size of post and is very difficult to customize

C. LAN always uses wireless technology fo transmit data.

Choose the comect answer from the options given below:

1 Aonly

2. Bonly

3.Band C only

4 Aand C only
Options :
22742726233. 1
22742726234. 2
22742726235. 3

22742726236. 4

Question Number : 34 Question Id : 2274276734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726233, 1
22742726234. 2
22742726235. 3

22742726236. 4

Question Number : 35 Question Id : 2274276735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match List-| with List-lI

List| Listll
Input Device Most Appropriate use

A. Bar Code Reader|l. To enter hard copy images into a computer

B. Microphone Il. To select items from a menu in a software
C. Scanner 1. To input data from a food item in a mall at a Point-Of-Sale (POS) terminal
D. Mouse IV To create a voice over a presentation

A-NLB-IVC-1,D-I
CA-IILB-1,C-IV,D-1I
A-ILB-IV,C-1.D-1l
A-VB-ILC-Il,D-I

B T B e

Options :

22742726237. 1



22742726238. 2
22742726239. 3

22742726240. 4

Question Number : 35 Question Id : 2274276735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 A-IVB-Il.C—Ill,D-]
Options :

22742726237. 1
22742726238. 2
22742726239. 3

22742726240. 4

Question Number : 36 Question Id : 2274276736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following pollutants is responsible for causing blue baby disease?

- Mercury

_ Particulate Matter
_Nitrates

. Sulphur dioxide

B T e



Options :

22742726241. 1
22742726242, 2
22742726243, 3

22742726244. 4

Question Number : 36 Question Id : 2274276736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726241. 1
22742726242. 2
22742726243. 3

22742726244. 4

Question Number : 37 Question Id : 2274276737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not responsible for the destruction of Ozone layer?

1. EFC

2. Halons
3. Dioxines
4. HCFC

Options :



22742726245. 1
22742726246. 2
22742726247. 3

22742726248. 4

Question Number : 37 Question Id : 2274276737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726245. 1
22742726246. 2
22742726247.3
22742726248. 4

Question Number : 38 Question Id : 2274276738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(iven below are two statements:

Statement (I): Under Montreal Protocol, developed and developing countries have same timetable for phasing out of Ozone Depleting
Substances (ODS).

Statement (1l): Under Montreal Protocol developing countries are referred to as ‘Article 5 Countries
In ight of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are correct

2. Both Statement (1) and Statement (1l) are incorrect.
3. Statement (1) is correct but Statement (II) is incomect
4 Statement (1) is incomect but Statement (Il is comect

Options :

22742726249. 1
22742726250. 2
22742726251.3
22742726252. 4

Question Number : 38 Question Id : 2274276738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742726249. 1

22742726250. 2



22742726251. 3
22742726252. 4

Question Number : 39 Question Id : 2274276739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are true about the Millennium Development Goals (MDGs)?
A.MDGs have & goals

B. MDGs have 40 targets.

C. MDGs were to be achieved by the year 2015.

[. MDGs were the successor of Sustainable Development Goals (SDGs).

Choose the correct answer from the options given below:

1. A B and C only
2. Aand C only
3. Band D only
4 B, Cand D only

Options:

22742726253. 1
22742726254, 2
22742726255. 3

22742726256. 4

Question Number : 39 Question Id : 2274276739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726253, 1
22742726254. 2
22742726255. 3

22742726256. 4

Question Number : 40 Question Id : 2274276740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are examples of Persistent Organic Pollutants (POPs)?
A Dioxins

B. Poly-Chlorinated Benzenes (PCBs)

C. Formaldehyde

D. Organo Chlorine Pesticides

E. Furans

Choose the correct answer from the options given below:

1. A, CandE only

2. A B, DandE only
3. B and D only

4 B, CandE only

Options :

22742726257. 1
22742726258. 2
22742726259. 3
22742726260. 4

Question Number : 40 Question Id : 2274276740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726257. 1
22742726258. 2
22742726259. 3
22742726260. 4

Question Number : 41 Question Id : 2274276741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Before Independence, the Lady Irwin College, Delhi was set up for teaching

1. Civil engineering

2. Fine arts

3. Horticulture

4 Educational research

Options:

22742726261. 1
22742726262. 2
22742726263. 3

22742726264. 4



Question Number : 41 Question Id : 2274276741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742726261 1
22742726262. 2
22742726263. 3

22742726264. 4

Question Number : 42 Question Id : 2274276742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Lord Auckland supported the idea of establishing in places with a large population.

. Community colleges
- Central colleges

- Technical colleges

- Science colleges

[ e

=

Options :

22742726265. 1
22742726266. 2
22742726267. 3

22742726268. 4

Question Number : 42 Question Id : 2274276742 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726265. 1
22742726266. 2
22742726267. 3

22742726268. 4

Question Number : 43 Question Id : 2274276743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The University of Vikramasila was a well-known centre of

1. Arabic language

2. Chinses philosophy
3. Tantric Buddhism
4 Japanese Art

Options :

22742726269. 1
22742726270. 2
22742726271.3

22742726272. 4

Question Number : 43 Question Id : 2274276743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0
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Options :
22742726269. 1
22742726270. 2
22742726271.3

22742726272. 4

Question Number : 44 Question Id : 2274276744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are autonomous research institutions under various government departments and agencies in India?
A Council of Scientific and Industrial Research

B. Indian Council of Social Science Research

C. Indian Institute of Astrophysics

D. Institute of Clinical Research, India

E. Indian Biological Sciences and Research Institute

Choose the correct answer from the options given below:

1.A Band Conly
2.B, Cand D only
3. C, Dand E only
4 A DandE only

Options:
22742726273. 1
22742726274. 2

22742726275. 3



22742726276. 4

Question Number : 44 Question Id : 2274276744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YRd H fafis Wer faur g weifydl & siavia g 3 3 o O o iy gRm 22
A. a3 g Mefifiie erde uRkug

B. R4 GA Ay SfdyH uRug

C. HRdg WHle it g

D. $¥lege i fdafed fvad, $fsar

E. HRa1g g {4 9 SFEYH gikue

SWIad HYA! & Scild | i fed fadpedl # 4 Wy ugad 3wk &I 98- DIl |
1. had A B3R C

2 HddB. C 3R D

3. HadC. D IRE

4 HIAA DIRE

Options :

22742726273. 1

22742726274, 2

22742726275. 3

22742726276. 4

Question Number : 45 Question Id : 2274276745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(iven below are two statements:

Statement (I): The National Accreditation Board, as per NEP report of 2016, must oversee the entire process of accreditation, st standards and
define guidelines for the purpose.

Statement (11): It can license the private agencies (preferable non-profit ones), who will do the actual evaluation of academic institutions.
In ight of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) s false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742726277. 1
22742726278. 2
22742726279. 3

22742726280. 4

Question Number : 45 Question Id : 2274276745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options:
22742726277. 1
22742726278. 2

22742726279. 3



22742726280. 4

Sub-Section Number : 3
Sub-Section Id : 227427265
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 2274276746 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the passage given helwo and answer the following questions

Coral reefs are the most biologically diverse ecosystems of the ocean. As divers know, thousands of beautiful fish, mollusks and urchins are
among the amazing marine life that ive among coral reefs. In fact, the corals themselves are also marine animals. Almost a thousand coral
species curmently exist in fantastic shapes ranging from mushrooms to moose antlers, cabbages, tabletops, wire strands and fluted pilars.

With the majorty of humankind living in coastal regions, many peaple depend on living coral reefs for food and protection from storms and
erosion. as wel as the additional benefits of medical research, tounsm and natural beauty. Coral reefs contribute about 25 percent of the total
fish catch in developing countries, providing food for one hillion paople in Asia alone. Unfortunately, human activities, including those associated
with global warming are threatening these animals. Increasing sea temperatures stress corals and cause damage.

World Wildlite Fund (WWF) s working to develop and test conservation strategies to befter protect coral reefs while also working to stop global
warming, the root cause of their destruction

Sub questions

Question Number : 46 Question Id : 2274276747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Coral reefs are important because

A_ They contribute thirty five percent of the total fish catch in developing countries.
B. Many people depend on them for food

C. They provide protection from storms and erosions

D. They provide food for one billion people in Asia

E. They are the cause of global warming

Choose the correct answer from the options given below:

1. B, Cand D only
2. Aand E only
3.C,DandE only
4. B and D only

Options :

22742726281. 1
22742726282. 2
22742726283. 3
22742726284. 4

Question Number : 47 Question Id : 2274276748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Coral reefs are being threatened because of

A Decreasing sea temperatures

B. Human activities

C. Global warming

D. Rising sea-levels

Choose the correct answer from the options given below:

1. Aand C only
2.B, Cand D only
3. B and C only
4 Aand B only

Options :

22742726285. 1
22742726286. 2
22742726287. 3

22742726288. 4

Question Number : 48 Question Id : 2274276749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are true about coral reefs?

A Presently nearly 1000 coral species exist.

B. Coral reefs are non-living

C. Fish, molluscs and urchins live among coral reefs

D. Cabbages grow on coral reefs

E. Because of their beauty they attract tourists

Choose the correct answer from the options given below:

1. A, B and C only
2.C,DandE only
3. A BandD only
4 A CandE only

Options :

22742726289. 1
22742726290. 2
22742726291. 3
22742726292. 4

Question Number : 49 Question Id : 2274276750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following organizations is working towards the protection of coral reefs?

1. UNO
2. WWF
3. UNESCO
4 WHO

Options :
22742726293. 1
22742726294. 2

22742726295. 3



22742726296. 4

Question Number : 50 Question Id : 2274276751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): All coral reefs have only one shape.

Statement (I1): Global warming is threatening the coral reefs.

In light of the above statements, choose the most appropriate answer from the options given below.

. Both Statement (1) and Statement (1I) are true.
- Both Statement (I) and Statement (11) are false.
- Statement (1) Is true but Statement (I1) is false.
- Statement (1) Is false but Statement (1) is true.

L N

N

Options :

22742726297. 1
22742726298. 2
22742726299. 3

22742726300. 4

Question Id : 2274276746 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 2274276747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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22742726283. 3

22742726284. 4

Question Number : 47 Question Id : 2274276748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742726285. 1
22742726286. 2
22742726287. 3

22742726288. 4

Question Number : 48 Question Id : 2274276749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726289. 1
22742726290. 2
22742726291.3

22742726292. 4

Question Number : 49 Question Id : 2274276750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742726293. 1
22742726294. 2

22742726295. 3



22742726296. 4

Question Number : 50 Question Id : 2274276751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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22742726297. 1

22742726298, 2

22742726299. 3

22742726300. 4
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Section type: Online
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Section Marks : 200
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Clear Response:

Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 227427266
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 2274276752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Anthropology deals with

1. Modern studies

2. Medieval times

3. Land matters

4 Evolution, growth and development of Human
Options :

22742726301. 1

22742726302. 2

22742726303. 3

22742726304. 4

Question Number : 51 Question Id : 2274276752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



22742726301. 1
22742726302. 2
22742726303. 3
22742726304. 4

Question Number : 52 Question Id : 2274276753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Brahmi is an ancient

1. God

2. Script

3. Language

4 Village name

Options :

22742726305. 1
22742726306. 2
22742726307. 3

22742726308. 4

Question Number : 52 Question Id : 2274276753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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22742726306. 2
22742726307. 3

22742726308. 4

Question Number : 53 Question Id : 2274276754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to Jains, the Siddha souls are of

1. Two categories
2. Three categories
3. Four categories
4 Five categories

Options:

227427263009. 1
22742726310. 2
22742726311.3

22742726312. 4

Question Number : 53 Question Id : 2274276754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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22742726312. 4

Question Number : 54 Question Id : 2274276755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following duties of the Brahmana is incorrect as enumerated by Kautily in his Arthashastra?

1. Adhyapana (feaching)

2. Pratigraha (accepting gifts)

3. Dana (making gifts)

4 Bhutarakshana (protection of living beings)

Options :

22742726313. 1
22742726314. 2
22742726315. 3

22742726316. 4

Question Number : 54 Question Id : 2274276755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742726313. 1
22742726314. 2
22742726315. 3
22742726316. 4



Question Number : 55 Question Id : 2274276756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who is the author of Saundarananda Kavya?

1. Sudraka

2. Ashvagosha
3. Bhasa

4 Arya Deva

Options:

22742726317. 1
22742726318. 2
22742726319. 3

22742726320. 4

Question Number : 55 Question Id : 2274276756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726317. 1
22742726318. 2
22742726319. 3

22742726320. 4



Question Number : 56 Question Id : 2274276757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Arthashastra i1s divided into how many Adhikaranas and Prakamas

1. 15 and 180
2. 21 and 160
3. 31 and 160
4. 31 and 180

Options :

22742726321. 1
22742726322. 2
22742726323.3

22742726324. 4

Question Number : 56 Question Id : 2274276757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1.15 3R 180
2. 21 3R 160
3. 31 3R 160
4. 31 3R 180

Options :

22742726321. 1
22742726322, 2
22742726323. 3
22742726324. 4

Question Number : 57 Question Id : 2274276758 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Kalamukha is sect of

1. Jainism

2. Shaivism

3. Buddhism
4. Narayanism

Options :

22742726325. 1
22742726326. 2
22742726327. 3
22742726328. 4

Question Number : 57 Question Id : 2274276758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726325. 1
22742726326. 2
22742726327.3

22742726328. 4

Question Number : 58 Question Id : 2274276759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

Main painter of Babur penod was ?

1. Abul Hasan
2. Mansoor

3. Bihzad

4 Farq Beg
Options :
22742726329. 1
22742726330. 2
22742726331. 3

22742726332. 4

Question Number : 58 Question Id : 2274276759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726329. 1
22742726330. 2
22742726331. 3

22742726332. 4

Question Number : 59 Question Id : 2274276760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which Rajput ruler held the highest Mansab under Akbar?

1. Rai Singh of Bikaner

2. Raja Mansingh of Jodhpur

3. Maharao Surjan Singh of Bundi
4. Kunwar Man Singh of Amer

Options :

22742726333. 1
22742726334. 2
22742726335. 3

22742726336. 4

Question Number : 59 Question Id : 2274276760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. PR & I g

2. SR & el AHE
3. 4dl & HeR™ o &g
4. AR & R AH g

Options:

22742726333. 1
22742726334. 2
22742726335.3

22742726336. 4

Question Number : 60 Question Id : 2274276761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who defeated Nizam of Hyderabad in the battle of Palkhed?

1. Peshwa Baji Rao |

2. Peshwa Baji Rao |l

3. Peshwa Balaji Vishwanath
4. Peshwa Narayan Rao

Options :

22742726337. 1
22742726338. 2
22742726339. 3

22742726340. 4

Question Number : 60 Question Id : 2274276761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726337. 1
22742726338. 2
22742726339.3

22742726340. 4

Question Number : 61 Question Id : 2274276762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who was the military commander of the Delhi Sultanate Army who invaded Kaktiyas of Warangal?

1. Khan-i-Jahan Magbul
2. Malik Kafur

3. Mubarak Shah Khalji
4. Khijr Khan

Options :

22742726341. 1
22742726342. 2
22742726343. 3
22742726344. 4

Question Number : 61 Question Id : 2274276762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. H-U 95l 769q
2. Ffcid PP

3. JaR® W5 gl
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Options:

22742726341. 1
22742726342. 2
22742726343.3

22742726344. 4

Question Number : 62 Question Id : 2274276763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who Akbar appointed to the post of Wakil immediately after the downfall of Bairam Khan?

1. Adham Khan

2. Shamsuddin Atka Khan
3. Munim Khan

4 Hakim Sur

Options :

22742726345. 1
22742726346. 2
22742726347.3

22742726348. 4

Question Number : 62 Question Id : 2274276763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. STYH 9+

2. Gl Al EWH
3. I @H
4. BT H ]

Options:

22742726345. 1
22742726346. 2
22742726347.3

22742726348. 4

Question Number : 63 Question Id : 2274276764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which writer has given first hand information about the administration of Shershah Suri?

1. Abul Fazal
2. Khafi Khan
3. Abdul Qadir Badauni
4_Abbas Khan Sarwani

Options :

22742726349. 1
22742726350. 2
22742726351. 3

22742726352. 4

Question Number : 63 Question Id : 2274276764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726349. 1
22742726350. 2
22742726351.3
22742726352. 4

Question Number : 64 Question Id : 2274276765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In which year the Battle of Talikotta was fought ?

1. 15535
2. 1567
3. 1565
4.1575

Options :

22742726353. 1
22742726354. 2
22742726355. 3

22742726356. 4

Question Number : 64 Question Id : 2274276765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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11953
2. 1567
3. 1565
4.1575

Options:

22742726353. 1
22742726354, 2
22742726355. 3

22742726356. 4

Question Number : 65 Question Id : 2274276766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following books is not written by Kamban?

1. Kamba Ramayana
2. Muvar-ula
3. Sadopkar-anthathi
4. Erelupathu

Options :

22742726357. 1
22742726358. 2
22742726359. 3

22742726360. 4

Question Number : 65 Question Id : 2274276766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. e IHA

2 {aR Ial
3. e uaR

4 WUy
Options:
22742726357. 1
22742726358. 2
22742726359. 3

22742726360. 4

Question Number : 66 Question Id : 2274276767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What do you understand by the term ‘eqgta’?

1. Financial assignment

2. The land given in lieu of military and civil services
3. Agriculture Land for Administration

4 Judicial area assigned to sikdar-i-sikdaran

Options :

22742726361. 1
22742726362. 2
22742726363. 3
22742726364. 4

Question Number : 66 Question Id : 2274276767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. fa<ita qifga
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Options:

22742726361. 1
22742726362. 2
22742726363.3

22742726364. 4

Question Number : 67 Question Id : 2274276768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who introduced Naqsh bandi silsila in India?

1. Shah Niamatullah Qadrni
2. Shah Abdullah Shattar
3. Khwaja Muinuddin Chisti
4. Khwaja Baqgi Billah

Options :

22742726365. 1
22742726366. 2
22742726367. 3

22742726368. 4

Question Number : 67 Question Id : 2274276768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726365. 1
22742726366. 2
22742726367.3

22742726368. 4

Question Number : 68 Question Id : 2274276769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which amongst the following was the most important centre of manufacture of Salt Pefre during the early colonial
rule?

1. Mysore

2. Northemn Sircar
3. Bihar

4. Bengal

Options :

22742726369. 1
22742726370. 2
22742726371.3

22742726372. 4

Question Number : 68 Question Id : 2274276769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

3fRfe ARG TRH & SRH IR & Fufo &1 Yaifte Teay o Feffea 3 3 b un

1. AR
2 Jdl R

3 faER
4 9T

Options:

22742726369. 1
22742726370. 2
22742726371.3

22742726372. 4

Question Number : 69 Question Id : 2274276770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Company School of Painting is also known as

1. Delhi School

2. Madras School
3. European School
4 Patna School

Options :

22742726373. 1
22742726374. 2
22742726375. 3

22742726376. 4

Question Number : 69 Question Id : 2274276770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726373. 1
22742726374. 2
22742726375.3

22742726376. 4

Question Number : 70 Question Id : 2274276771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The statement " The only foe worthy of British Steel’ was given by a British Magistrate about which leader of the
Revolt of 1857

1. Tatya Tope

2. Nana Saheb

3. Maulvi Azimullah

4. Babu Kuwnar Singh

Options :

22742726377. 1
22742726378. 2
22742726379. 3

22742726380. 4

Question Number : 70 Question Id : 2274276771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726377. 1
22742726378. 2
22742726379.3

22742726380. 4

Question Number : 71 Question Id : 2274276772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who said the The Rise and Fall of Empires is not a matter of greased cartridges’?

1. Cornwallis
2. Lytton

3. Disraelh
4. Mayo

Options :

22742726381. 1
22742726382. 2
22742726383. 3

22742726384. 4

Question Number : 71 Question Id : 2274276772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. BHaIey
2. fereq
3. feoRmdl
4. T4l

Options:

22742726381. 1
22742726382. 2
22742726383.3

22742726384. 4

Question Number : 72 Question Id : 2274276773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one among the following may not be called the non-vedic upanishada?

1. Jabala upanishada
2. Garbha upanishada
3. Subala upanishada
4. Ken upanishada

Options :

22742726385. 1
22742726386. 2
22742726387. 3

22742726388. 4

Question Number : 72 Question Id : 2274276773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4. &+ 34Ng
Options:
22742726385. 1
22742726386. 2
22742726387. 3

22742726388. 4

Question Number : 73 Question Id : 2274276774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who amongst the following started the journal Bharat Shramjeevi in 186747

1. N.M. Lokhande

2. Shashipad Banerji
3. W.C. Banerji

4. Bal Gangadhar Tilak

Options :

22742726389. 1
22742726390. 2
22742726391. 3

22742726392. 4

Question Number : 73 Question Id : 2274276774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726389. 1
22742726390. 2
22742726391.3

22742726392. 4

Question Number : 74 Question Id : 2274276775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The total number of Charter Acts introduced by the British in India were

1. Two
2. Four
3. Six

4 Eight

Options :

22742726393. 1
22742726394. 2
22742726395. 3
22742726396. 4

Question Number : 74 Question Id : 2274276775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726393. 1
22742726394, 2
22742726395. 3
22742726396. 4

Question Number : 75 Question Id : 2274276776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



“One religion, One caste and One God for manking” was the central message of

1. Eshwara Chandra Vidyasagar
2. Swami Vivekananda

3. Narayana Guru

4. Jyotiba Phule

Options :

22742726397. 1
22742726398. 2
22742726399. 3
22742726400. 4

Question Number : 75 Question Id : 2274276776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726397. 1
22742726398. 2
22742726399. 3

22742726400. 4

Question Number : 76 Question Id : 2274276777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The play ‘Neel Darpan’ was authored by

1. Bankim Chandra Chatterjee
2. Lala Lajpat Rai

3. Gopal Har Deshmukh

4 Din Bandhu Mitra

Options :
22742726401. 1
22742726402. 2

22742726403. 3
22742726404. 4

Question Number : 76 Question Id : 2274276777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

i U AIed & dED DI
97
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Options:

22742726401. 1
22742726402. 2
22742726403. 3

22742726404. 4

Question Number : 77 Question Id : 2274276778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The 25th and 42nd Amendments in 1971 and 1976 gave precedence to

1. Fundamental Rights

2. Directive Principles

3. Property Rights of Women

4 None of the above mentioned

Options :

22742726405. 1
22742726406. 2
22742726407. 3

22742726408. 4

Question Number : 77 Question Id : 2274276778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742726405. 1
22742726406. 2
22742726407. 3
22742726408. 4

Question Number : 78 Question Id : 2274276779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



“This is sheer waste of time unless the researcher knows what to take down, how to take down and how to classify”,
who wrote it?

1.EH.Car

2. B. Sheikh Ali

3. G.C. Pandey

4 None of the above mentioned

Options :

227427264009. 1
22742726410. 2
22742726411.3

22742726412. 4

Question Number : 78 Question Id : 2274276779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
227427264009. 1
22742726410. 2
22742726411.3
22742726412. 4

Question Number : 79 Question Id : 2274276780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following works is not composed by Aryabhatta ?

1. Aryabhattiya

2. Aryashtasata

3. Bramhasiddhanta
4. Dasgitika Sutra

Options :

22742726413. 1
22742726414. 2
22742726415. 3

22742726416. 4

Question Number : 79 Question Id : 2274276780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. e
2 AHRaYd
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Options:

22742726413. 1
22742726414. 2
22742726415.3
22742726416. 4

Question Number : 80 Question Id : 2274276781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who amongs the following was the first Surveyor General of Bengal ?

1. Buchanan

2. William Jones
3. James Rennel
4. George Foster

Options :

22742726417. 1
22742726418. 2
22742726419. 3

22742726420. 4

Question Number : 80 Question Id : 2274276781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726417. 1
22742726418. 2
22742726419.3

22742726420. 4

Question Number : 81 Question Id : 2274276782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Herodotus, the father of History wrote about:

1. Athens and spartian war
2. Slave war

3. Roman war

4 Chinese war

Options :

22742726421. 1
22742726422. 2
22742726423. 3
22742726424. 4

Question Number : 81 Question Id : 2274276782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726421. 1
22742726422. 2
22742726423.3

22742726424. 4

Question Number : 82 Question Id : 2274276783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The text that portrayed women as ‘Mother as she was', ‘Mother as she is" and ‘Mother as she will be’ is

1. Anandamath

2. A comparnison between women and men
3. Manusmriti

4. Arthashastra

Options :

22742726425. 1
22742726426. 2
22742726427. 3
22742726428. 4

Question Number : 82 Question Id : 2274276783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options:

22742726425. 1
22742726426. 2
22742726427.3

22742726428. 4

Question Number : 83 Question Id : 2274276784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



‘| am associated with men, who though never seen by the masses. .. are yet reverenced by them as Gods,... and
who feel every pulse of public feeling’ was communicated to Lord Ripon by

1.A0. Hume

2. Lajpat Rai

3. R Palme Dutt
4 Wedderburn

Options :

22742726429. 1
22742726430. 2
22742726431.3

22742726432. 4

Question Number : 83 Question Id : 2274276784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726429. 1
22742726430. 2
22742726431.3

22742726432. 4

Question Number : 84 Question Id : 2274276785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Patti Sriramalu, the protagonist who fasted demanding the creation of separate Andhra died on

1. 19th September 1952
2. 19th October 1952

3. 19th November 1952
4 19th December 1952

Options :

22742726433. 1
22742726434. 2
22742726435. 3
22742726436. 4

Question Number : 84 Question Id : 2274276785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

QY Y S 1 H B gL Y godd & didl a1 Us1 SRmg &1 g Fafaid o ol o g32

1. 19 R 1952
2. 19 3fdga¥ 1952
3. 19 TarE 1952

4 19 fGTmER 1952

Options:

22742726433. 1
22742726434, 2
22742726435. 3

22742726436. 4

Question Number : 85 Question Id : 2274276786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who wrote that factories could ‘for more effective than schools and colleges give a new birth to the activities of the
Nation'?

1. GV. Joshi

2.M.G. Ranade

3. Dadabhai Nawroji
4. . Subramanya lyer

Options :

22742726437. 1
22742726438. 2
22742726439. 3
22742726440. 4

Question Number : 85 Question Id : 2274276786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

g o e o1 St U4 i 1 oA 4 hfacal i I 51 Wl & ot T ) el o 70 o7 ¢ W

1.9 dt o
YRR

3. BT Y ARI
4. off. QT TR

Options:

22742726437. 1
22742726438. 2
22742726439. 3

22742726440. 4

Question Number : 86 Question Id : 2274276787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who founded the "Swadesh Bandhav Samiti’ at Barisal during the Swadeshi Movement?

1. Motilal Ghosh

2_Nil Ratna Sircar

3. Ashwini Kumar Dutt
4 Krishna Kumar Mitra

Options :

22742726441. 1
22742726442. 2
22742726443. 3
22742726444. 4

Question Number : 86 Question Id : 2274276787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Wl Afalad & GRH SIRyd H 9o giyd giifa of wig feg- @

q1?

1. Hicll d1d 919
2 Id 7d WBR
3. A AR &
4. PO HHR frET

Options:

22742726441. 1
22742726442, 2
22742726443.3

22742726444. 4

Question Number : 87 Question Id : 2274276788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who amongst the following wrote a biography of Mazzini?

1. Lala Hardayal

2. Madanlal Dhingra
3. V. D. Savarkar

4 Ras Bihari Bose

Options :

22742726445. 1
22742726446. 2
22742726447. 3

22742726448. 4

Question Number : 87 Question Id : 2274276788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fFafafad 7 9 foa Afsrt o1 siia- fergt 4

1. <IIell glcdld

2. 7 i feTRT
3. dl. I it
4. 39 faerl 9/

Options:

22742726445. 1
22742726446. 2
22742726447.3
22742726448. 4

Question Number : 88 Question Id : 2274276789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



‘The past remains constant, but writings about the past change’ is a statement found in

1. E.H. Carr's 'What is History?’

2. UGC Model Curriculum on History and Archeology 2001
3. Jacques Derrida’s "Of Gramattology’

4. Michel Foucault's "The Archeology of Knowledge’
Options :

22742726449. 1

22742726450. 2

22742726451. 3

22742726452. 4

Question Number : 88 Question Id : 2274276789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
YT TR Bidl & W 4d & Uay I g 1 URadH il & Jg &4 9 T U &gl U oKl 87

1.3 Ud. SR P Ie 3 o]

2. J ot Hi Hisd Fq{imad AHH fgE] U8 sfdbararsi 2001
3. Wi el Bl I T YT

4. T3Hd BI3dhee Bl & Albdicial AP Al

Options:

22742726449. 1
22742726450. 2
22742726451.3
22742726452. 4

Question Number : 89 Question Id : 2274276790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who among the following was associated with the Annales School of historians?

1. Lucien Febvre
2. Karl Marx

3. Louis Dumont
4. Arnold Toynbee

Options :

22742726453. 1
22742726454. 2
22742726455. 3

22742726456. 4

Question Number : 89 Question Id : 2274276790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Fufiad # $H siieeRl &t 3iaghy 9 ST 4r?

1. QA sl
2 PIct JIa

3. a4 gHie
4. 3fHcs egdl

Options:

22742726453. 1
22742726454, 2
22742726455. 3

22742726456. 4

Question Number : 90 Question Id : 2274276791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Orientalism is a style of thought based upon an Ontological and epistemological distinction made between the
Orient and the accident...” is opined by

1. Gayathri C. Spivak
2. Kate Currie

3. Max Muller

4 Edward W. Said

Options :

22742726457. 1
22742726458. 2
22742726459. 3
22742726460. 4

Question Number : 90 Question Id : 2274276791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

WAl d U1 UM o s S U S-S ad SR o & el R A14Rd § 98 deacd el 37

1. 731 U1 Wiad

2 B

3. I R

4, U348 S U8
Options:
22742726457. 1
22742726458, 2
22742726459, 3

22742726460. 4

Question Number : 91 Question Id : 2274276792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



CHUDAMANI is an ornament -

(A). Made of metals

(B). Given to devi Seeta by Hanuman

(C). Place name in Bengal

(D). Used in dressing the hair

(E). Refered to in Shrimad Ramayana

Choose the correct answer from the options given below:

1. (A), (C), (B) and (E) only.
2. (A), (B), (D) and (E) only.
3. (A), (E), (C) and (D) only.
4. (A),(B), (C) and (D) only.
Options :

22742726461. 1
22742726462. 2
22742726463. 3

22742726464. 4

Question Number : 91 Question Id : 2274276792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



TS0 TP ST &:
A. g FAfda
B. Hid1 &dl RI 18 ®i Had

C. S H = &1 AH

D. dIdl &1 ool H Wgad
E. giHe I H defid
-Iid feu e fasedl § O ey Iugad 3R &I 98- DI

1. ®ddA C B, E
2 HddA B, D E
3.$ddC E A D
4 HAdB, D AC
Options :
22742726461. 1
22742726462. 2
22742726463. 3

22742726464. 4

Question Number : 92 Question Id : 2274276793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Sohgaura copper plate inscription records about:

(A). Mathura

(B). Chanhu

(C). Manawasi junction

(D). Store houses of food grains

(E). Copper hoond

Choose the correct answer from the options given below:

1. (B), (C), (D) and (E) only.
2. (A), (B), (C) and (E) only.
3. (A), (B), (C) and (D) only.
4 (B), (C) and (D) only.
Options :

22742726465. 1
22742726466. 2
22742726467. 3

22742726468. 4

Question Number : 92 Question Id : 2274276793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



g RI a9 UA 3ifHorg d Fafeiad 7 ¥ fegd ar J Iy &:

A TR

B. Mg

C. AR Sfa=H

D. @IEd &1 Y8R

E. a8 WS

e fou e faoeal & ¥ U6t SR SR &1 984 i

1. ®ddB,C D E
2 ddA B C E
3. HddA B, C D
4 ®HAdB, C. D

Options :

22742726465. 1
22742726466. 2
22742726467. 3

22742726468. 4

Question Number : 93 Question Id : 2274276794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Dancing girl found in Indus valley excavations belongs to
(A). Chalcolithic period

(B). An example metallergy of the times

(C). An example of aesthetics

(D). Copper age

(E) Pallolithic times

Choose the correct answer from the options given below:

1. (A), (B), (D) and (E) only.
2. (A), (B), (C) and (D) only.
3. (A), (B), (C) and (E) only.
4. (B), (C), (D) and (E) only.
Options :

22742726469. 1
22742726470. 2
22742726471.3

22742726472. 4

Question Number : 93 Question Id : 2274276794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Risardt & Ieg-H H Ul 15 Add| I YaY &
A. T OTST0T ]

B. AahIci- UTqdH ol 3618l

C. Hied &1 3&TeRul

D. d= g

E. QRIUTNIV SId
-Iid feu e fasedl § O ey Iugad 3R &I 98- DI

1. ®ddA B D, E
2 HddA B, C D
3. $ddA B, C E
4 ®HddB, C D, E
Options :
22742726469. 1
22742726470. 2
22742726471. 3

22742726472. 4

Question Number : 94 Question Id : 2274276795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Literary sources for study of history include-

(A). Shnmad Ramayana

(B). Coins

(C). Shrimad Mahabharata

(D). Indica of Megasthanese

(E). Arthashastra of Kautilya

Choose the correct answer from the options given below:

1. (A), (B), (C) and (D) only.
2. (B), (D), (C) and (E) only.
3. (A), (B), (D) and (E) only.
4. (A), (C), (D) and (E) only.
Options :

22742726473. 1
22742726474. 2
22742726475. 3

22742726476. 4

Question Number : 94 Question Id : 2274276795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



sider & SisggH & foru wifefde widl H gk &
A. diE THE

B. Ry

C. 4HE HgTHRd

D. FreyTGl Xfad SfSa0

E. Pifcey Ied e

e fou e faoenl & ¥ U6t SR SR &1 984 i

1. ®ddA B C D
2 $ddB, D, C, E
3. HddA B D E
4 HAdA C D, E

Options :

22742726473. 1
22742726474. 2
22742726475. 3
22742726476. 4

Question Number : 95 Question Id : 2274276796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Mauryas economy is based on -

(A). Agricultural output

(B). Smithing industry

(C). Textile indusry

(D). Paper technology

(E). Excavation of tanks

Choose the correct answer from the options given below:

1. (A), (B), (D) and (E) only.
2. (A), (B), (C) and (D) only.
3. (A), (B), (C) and (E) only.
4. (B), (C), (D) and (E) only.
Options :

22742726477. 1
22742726478. 2
22742726479. 3

22742726480. 4

Question Number : 95 Question Id : 2274276796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



AeraH iferawy Agifdad & ¥ i W enamid &:

A P Idig

B. HId&H Il

C. % I

D. BT Uit

E. didal 3cd-H

-Iid feu e fasedl § O ey Iugad 3R &I 98- DI

1. ®ddA B D, E
2 HddA B, C D
3. $ddA B, C E
4 ®HddB, C D, E
Options :
22742726477. 1
22742726478. 2
22742726479. 3

22742726480. 4

Question Number : 96 Question Id : 2274276797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Numismatics, the study of coins explains about -

(A). Economy of times

(B). Coin denominations

(C). Metals in use

(D). Wood industry

(E). Potraits of the rulers

Choose the correct answer from the options given below:

1. (A), (B), (C) and (D) only.
2. (A), (B), (C) and (E) only.
3. (A), (B), (D) and (E) only.
4. (B), (C), (D) and (E) only.
Options :

22742726481. 1
22742726482. 2
22742726483. 3

22742726484. 4

Question Number : 96 Question Id : 2274276797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



fg@! 7a | FHgifdd § 9§ fous IR § s 31 7S &
A. g1 Bt srfoaaeyt

B. Ridds &1 g1

C. TR &I SHdrel &1g

D. B18 i

E. 29I B UfiATd

-Iid feu e fasedl § O ey Iugad 3R &I 98- DI

1. ®ddA B C D
2 HddA B C E
3 $ddA B D E
4 ®HddB, C D, E
Options :
22742726481, 1
22742726482. 2
22742726483. 3

22742726484. 4

Question Number : 97 Question Id : 2274276798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Agrahara is the village given as a gift to -

(A). Brahmins only

(B). Traders

(C). Foreign travellers

(D). Craft persons who are excellent in their skills

(E). Barbers

Choose the correct answer from the options given below:

1. (B), (C), (D) and (E) only.
2. (A), (B), (C) and (D) only.
3. (A), (B), (D) and (E) only.
4. (A), (C), (D) and (E) only.
Options :

22742726485. 1
22742726486. 2
22742726487. 3

22742726488. 4

Question Number : 97 Question Id : 2274276798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



"3RI fAgifrd H U fbg SUBR T foar a1 71iq ¢:
A. Bhad STgHUI Bl

B. SAUIRAl DI

C. fac=i uigi &

D. 3 RICUBRI &I S U B H SPHF g

E_A3al &l
-Iid feu e fasedl § O ey Iugad 3R &I 98- DI

1. ®ddB,C D E
2 HddA B, C D
3. HddA B D E
4 HAdA C D, E
Options :
22742726485. 1
22742726486. 2
22742726487. 3

22742726488. 4

Question Number : 98 Question Id : 2274276799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Of the following which is the odd combination of south indian languages-
(A). Telugu

(B). Tamil

(C). Kannada

(D). Malayalam

(E). Dogri

Choose the correct answer from the options given below:

1. (A), (B), (C) and (E) only.
2. (A), (B), (C) and (D) only.
3. (B), (C), (D) and (E) only.
4. (A), (C), (D) and (E) only.
Options :

22742726489. 1
22742726490. 2
22742726491. 3

22742726492. 4

Question Number : 98 Question Id : 2274276799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



frmifdra # ¥ fawd @) gEo yRda yw &1 3w g

A AT
B. dffrd

C. ®ds

D. HcldicdH
E. SFRI

-Iid feu e fasedl § O ey Iugad 3R &I 98- DI

1. ®ddA B C E
2 HddA B, C D
3. #ddB, C D, E
4 HAdA C D, E
Options :
22742726489. 1
22742726490. 2
22742726491. 3

22742726492. 4

Question Number : 99 Question Id : 2274276800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Alwars and Nayanars belongs to -

(A). Hinduism

(B). Vaishnavism

(C). Shaivism

(D). Vedism

(E). Jainism

Choose the correct answer from the options given below:

1. (A), (B), (C) and (E) only.
2. (A), (B), (C) and (D) only.
3. (B), (C), (D) and (E) only.
4. (A), (C), (D) and (E) only.
Options :

22742726493. 1
22742726494. 2
22742726495. 3

22742726496. 4

Question Number : 99 Question Id : 2274276800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



IR 3R 99-R Hgifed H ¥ fbd gdfid g:

A Teg ed

B. dwrd e

C. QaeH

D. afce o

E. oieH

-Iid feu e fasedl § O ey Iugad 3R &I 98- DI

1. ®ddA B C E
2 HddA B, C D
3. #ddB, C D, E
4 HAdA C D, E
Options :
22742726493. 1
22742726494. 2
22742726495. 3

22742726496. 4

Question Number : 100 Question Id : 2274276801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The intricate carvings of Kakatiya art are the continuation of -
(A). Chalukyan art

(B). Satavahana art

(C). Chola art

(D). Rashtrakuta art

(E). Local art traditions

Choose the correct answer from the options given below:

1. (B), (C), (D) and (E) only.
2. (A), (B), (C) and (D) only.
3. (A), (B), (D) and (E) only.
4. (A), (C), (D) and (E) only.
Options :

22742726497. 1
22742726498. 2
22742726499. 3

22742726500. 4

Question Number : 100 Question Id : 2274276801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



DIDbdIg Hal b died SabiviA Hifdd H ¥ fo-id 9dd H &:
A. IIga Hal

B. YIddigH ol

C. i &l

D. APGHE el

E. ®HIg Hal U

e fou e faoeal & ¥ U6t SR SR &1 984 i

1. ®ddB,C D E
2 HddA B, C D
3. HddA B D E
4 HAdA C D, E

Options :

22742726497. 1
22742726498. 2
22742726499. 3

22742726500. 4

Question Number : 101 Question Id : 2274276802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Trade and commerce are meant to develop the subjects on -
(A). Food industry

(B). Economic stability

(C). Squeeze the people

(D). Interdependency

(E). Construction of tanks

Choose the correct answer from the options given below:

1. (A), (C), (D) and (E) only.
2. (A), (D), (C) and (B) Only.
3. (A), (B), (D) and (E) only.
4. (A), (B), (C) and (E) only.
Options :

22742726501. 1
22742726502. 2
22742726503. 3

22742726504. 4

Question Number : 101 Question Id : 2274276802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SR 3R qIforsy &1 waterH Fgifhd ¥ Ydftd faval o faeig o ur?
A. e FEHT

B. 3N i@

C. Sl &1 YT

D. g3

E. Sids! &1 fEto

e fou e faoeal & ¥ U6t SR SR &1 984 i

1. ®ddA C D E
2 HddA D, C, B
3. HddA B D E
4 HAdA B, C E

Options :

22742726501. 1
22742726502. 2
22742726503. 3

22742726504. 4

Question Number : 102 Question Id : 2274276803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which statements are correct about Abul fazl?

(A). Abul fazl was the second son of Shaikh mubarak

(B). The Akbar nama is a monumental work written by Abul fazl

(C). Abul fazl translated part of Muajam-ul-Buldon, a geographical dictionary
(D). Abul fazl was murdered by Bir singh Bundela on behest of Prince Salim
(E). Abul fazl wote a preface to the persian translation of the Mahabharata
Choose the correct answer from the options given below:

1. (A), (B), (D) and (E) only.
2. (B), (C), (D) and (E) only.
3. (A), (C), (D) and (E) only.
4. (A), (C), (B) and (E) only.
Options :

22742726505. 1
22742726506. 2
22742726507. 3

22742726508. 4

Question Number : 102 Question Id : 2274276803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3fge Boid & aR H Hgifed # ¥ ©H 3 U 9 o

A. 3(gd Bold W HIRS S fgdid O 1

B. SfdeR-HI 3fdc Bold gRI dd HeH Did 8|

C. g Wold - e & Asad Y HiwH I qaGH o HFT &I HdIG fddl
D. ASHHR HeitH & - W R 85 el gRI 3gel Bad ol ol Bi
?@Wﬁ%%ﬂ@ﬁmmwl

e fou e faoeal & ¥ U6t SR SR &1 984 i

1. ®ddA B D, E
2 $4dB,C D, E
3. $ddA C D, E
4 HAAA C B E

Options :

22742726505. 1
22742726506. 2
22742726507. 3
22742726508. 4

Question Number : 103 Question Id : 2274276804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements regarding Malik Ambar are correct :

(A). Malik Ambar was sold at Ahmadnagar to chingiz khan, the minister of Murtaza Nizam shah |
(B). Battle of Bhatvadi was one of the decisive battles in the history of Deccan won by Malik Ambar
(C). In 1607, Malik Ambar transferred his capital to Khirki, about 10 miles from Daulatabad

(D). Malik Ambar defeated Abdullah khan, the Governor of Gujarat

(E). Malik Ambar's revenue system was based primarily on Raja Todarmal's model

Choose the correct answer from the options given below:

(A
(B
(A
(A

B
C
C
B

C
D
D
D

and
and
and
and

D) only.
E) only.
E) only.
E) only.

1 ?

), (B), (
), (C), (
), (C), (
), (B), (

LA S S W R ]
. i+ g

1.
2
3.
4.(A), (B),

Options :

227427265009. 1
22742726510. 2
22742726511.3
22742726512. 4

Question Number : 103 Question Id : 2274276804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A1 SR & aR # FHifed 3 8 & S 5 T 5

A. Hicich 3R I Heloll HTTH g Al 97l @i o g1l AEHETR H ol |

B. YEdIS! B 4 Hicid 3HFR gRI fdfid cadh & 3iagrd H ydifdd Fuiad &l § 1 ud |

C. dY 1607 H Hftid SR = 3G AFUHI Glefdrarg § THAT 10 Hie g2 asa! § Ryriaka fan
D. Afeid ¥R = ToRId o 71} Sfegeet @i bl Wiferd faari

E. Hicidh 3R i 1o YUTTel W 9 SIseHd & Higd W e o

Fd feT 7T facbeat H 9 Wgl STk SR & 95 DioE:

1. H9dA B, C D
2 $adB,C, D E
3 $4ddA C, D, E,
4 $AdA B D E

Options :

227427265009. 1
22742726510. 2
22742726511.3
22742726512. 4

Question Number : 104 Question Id : 2274276805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct :

(A). Tobacco was introduced at Akbar's court in 1604-05

(B). Lahari Bandar was the chief sea-port of sind from where cotton clothes were exported to persian gulf
(C). The port of pipli was situated on the Malabar coast

(D). According to moreland, there was as many as thirteen famines in India between 1614 and 1660

(E). Largest supply of salt petre in the 16" century came from Kashmir

Choose the correct answer from the options given below:

) and (C) only.
)and (D) only.
) and (D) only.
D) and (E) only.

Options :

227427265131
22742726514. 2
22742726515. 3

22742726516. 4

Question Number : 104 Question Id : 2274276805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fifhd 7 9§ BH ¥ Py Hel &

A. HDHER o GRER H e T 1604-05 H HRB feb1 7|

B. el saXTg 1Y Wid T W WHg USH o ol § Yot a%d Uifan &t wret 4 Faid foban Sire o

(|:. Ul ERIg HICER & Hsde W aieyd ol

D. HRc'S & 38R T 1640 T 1660 & Hel HR H ¥E dR giue gu U
E. 1641 9¢1 § 2R (Hiee diex) &t Galftd sfd o2HR 9 gidl 411

T feu T fadhedl A 4 Y SUYdd TR &l 98 Difag:

1. HadA B, C
2 $adB, C,D
3 $ddA B D
4 $HadcC, D E

Options :

227427265131
22742726514. 2
22742726515. 3
22742726516. 4

Question Number : 105 Question Id : 2274276806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following statements are correct?
(A). Jahangir conferred the fitle of Nadir-uz- Zaman (wonder of the age) fo painter Abul Hasan
(B). Jahangir conferred the fitle of Nadir-uz-Asr to painter Aga Reza

(C). Ustad mansur was the one of the greatest painter during Jahangir's region who excelled in painting animals
and birds

(D). Jesuit father Fernao Guerrcrio who visited imperial court mentions that Jahangir liked European art of painting
(E). The border decorations of the pictures in Jahangir's album are rich with scenes depicting social themes
Choose the correct answer from the options given below:

1.(A), (B), (C) and (D) only
2.(B), (C), (D) and (E) only
), (C), ( (E)
), (B), ( (E)

1

3 (A
4 (A), B

D) and (E) only.
D) and (E) only.

)
)
)
)
Options :

22742726517. 1
22742726518. 2

22742726519. 3

22742726520. 4

Question Number : 105 Question Id : 2274276806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A, SEAIR A @R el 56 ) ATcR-3u- WA (@71 1 314) Bt Ut 4 gl fosa

B. Wi A AR 311 ol 1 Aiex-30-3rd @1 St & wwifd oo

C. TG T TR o STRAI o Tt foR) A 4 0@ 4 forgia v uft o Fepraondt S T

D. WY e ol TRisl o WraTogare] R H erdul 1 el o6 & o el @ QU 1 Feea 0
E S e ) e e e ot e e e

T e 7w faea! H € e SUga SR @1 98 Bt

1.%3dA B C,D

2 $4aB,C,D.E

3 %40A C,D.E

4 BaqA B.D E
Options :
22742726517. 1
22742726518. 2
22742726519. 3

22742726520. 4

Question Number : 106 Question Id : 2274276807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What were the reasons behind the failure of Bahadur Shah to crush the sikh uprising under Banda Bahadur?
(A). Sikhs enjoyed the support of the local populaton

(B). Sikhs made skillful use of the terrain and followed guerilla made of warfare

(C). Mutual jealousy and quarrel of Mughal commanders

(D). Weakness of the imperialists against the nature of the sikh uprising and their tactics

(E) Bahadur Shah applied the law of escheat after the death of Guru Govind Singh which rose the common people
in revolt

Choose the correct answer from the options given below:

and (D) only.
and (E) only.
and (E) only.
and (E) only.
Options :
22742726521. 1
22742726522. 2
22742726523. 3

22742726524. 4

Question Number : 106 Question Id : 2274276807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



421 T51GY & g 1 g e @1 o e B TGRS ) fatarl o o w2

A Tir I Rt TR o1 e T

B. F3r@ 1 39 & 1 RIcTagde YV fora forray Uai] et 3 Faffi St ot

C. T SrTufcal it R S 0 T

0. v e Sl I O a8 i v, e o e

E. TRIG TG A T 711dc g o (M4 o Ui ISR T - IR farel fordich (reawed o Sfialer SRH ol
TR it 4 & 8 v SR T

1.%ddA B,C D

2 HddB,D.E A

3 HAdA B, C E

4 HATA C.D E
Options :
22742726521. 1
22742726522. 2
22742726523. 3

22742726524. 4

Question Number : 107 Question Id : 2274276808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



At the behest of Warren Hastings a digest of Hindu laws was compiled by a commitee of eleven pundits in 1775
(A). The digest was translated into English by N.B. Halhed

(B). It helped the European judges and reduced their dependence on indigeneous interpreters

(C). It reduced the importance of the Regulating Act

(D). It helped the British to understand the legal sense of Indians in the historical perspective

(E). It became the corner stone for the passage of Pitt's india Act

Choose the correct answer from the options given below:

only.
only.
only.
only.

Options :

22742726525. 1
22742726526. 2
22742726527. 3
22742726528. 4

Question Number : 107 Question Id : 2274276808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dRA e & e IR fgg 14 IR FdheH 1775 H WRE Sl & 9firfd gR1 foar mm o

A T% 9R G978 U ot g1US gRI sfdtelt H e gl

B. 394 U & il I e el 3R SFdeiid HINRORI IR Ia! FHed 54 81 15
E.WWW@HWW%@@W|

D. 354 fafewr o! tfoeRe ulttea & yRa aiftal & Bfds orf & v o wemar fird

E. 7% ey 3791 tae &l mikd & § Sifamgayul areH Rig gl

i fgu e faded! 7 9 ey Sudd SR &l 94 DL

1. $adA B D
2 4dB, C A
3 ®4dE D, A
4 $9dB C.D

Options :

22742726525. 1
22742726526. 2
22742726527. 3
22742726528. 4

Question Number : 108 Question Id : 2274276809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements about India's constitutional development are correct

(A). Bicameral legislatures were introduced at centre by the Government of India Act 1935

(B). Dyarchy was introduced in the provinces by the Government of India Act 1919

(C). Annie Beasant termed the Act of 1919 as unworthy of England to offer and unworthy of India to accept
(D). Provincial autonomy was introduced by the Government of India Act 1935

(E). The congress rejected the indian council Act 1919

Choose the correct answer from the options given below:

Options :

22742726529. 1
22742726530. 2
22742726531. 3
22742726532. 4

Question Number : 108 Question Id : 2274276809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HRA BT IRYH & & TR A REfa A S PR A A e

A B &R R TaHe T 31 T, 1935 BRI (g faenflie : il &1 73|

B. Tl & AR Tane 31 31 ek, 1919 GRT O1: ®iifia fasar )

C. Wi aife = e 31t 3ied1 Tae 1919 Bl TS gRI ol o SR HRd gRI WIPR [T 9 o 31 el HHT 41
D. Wi T Ta-He 3t 3l W, 1935 §RI U Wftd &1 73

E. &1 - 30 SRR Uae, 1919 1 i o feal

i few e faedt # @ 01 IR T 31 75 BT

1. %adA B,C

2 H90B,C.D

3 H90C D,E

4 H9UB,C.D E
Options :
22742726529. 1
22742726530. 2
22742726531. 3

22742726532. 4

Question Number : 109 Question Id : 2274276810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct about Tarkeshwar satyagraha

(A). It was led by Vinoba bhave

(B). Swami Vishwananda and Swami Sacchidananda formed the Mahavir Dal for the satyagraha
(C). It was a religious reform movement

(D). The satyagraha was supported by the British government

(E). Chittaranjan Das was associated with the satyagraha

Choose the correct answer from the options given below:

and (E) only.
and (D) only.
and (D) only.
and (E) only.

Options :

22742726533. 1
22742726534. 2
22742726535. 3
22742726536. 4

Question Number : 109 Question Id : 2274276810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A. SH®T -Igcd fa-tar Hid - fdar

B. Tl fayre Sik Wt wieerc = e o g Aedik aa &1 16+ foar U1
ill g5 o R SHiclcH ol

D fofewr TReR 7 59 gamws o g7d= g an

E. fra¥e <8 39 9 ¥ s 41

e fou e faoeal & ¥ U6t SR SR &1 984 i

1. ®ddA C E
2 ®ddB, E, D
3. HddA C D
4 HAdB C E

Options :

22742726533. 1
22742726534. 2
22742726535. 3

22742726536. 4

Question Number : 110 Question Id : 2274276811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"Thuggee" Act (xxx) of 1636 and the Thuggee department were simply aiming at policing and prosecuting gangs
seen as perpetrating a crime in the name of religion

(A). It was a colonial construct to brand various peripatetic groups as thugs
(B). The British considered actions against was an act of social reform

(C). Sir william Sleeman was the architect of the compaign against Thuggee
(D). 'Confessions of a Thug' is authored by Mike Dash

(E). Thugee is authored by Sir William Sleeman

Choose the correct answer from the options given below:

and (D
and (E
and (C
D)and (E

only.
only.
only.
only.

R . =

Options :

22742726537. 1
22742726538. 2
22742726539. 3

22742726540. 4

Question Number : 110 Question Id : 2274276811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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C. T focrm e 1) fog e e

D. BT 3 of 3 IHGD i b el IS o g

E 91t ot e &A1

e e e ot 4 e 30 O @ A

1 $37A C.D
) 5B D, E
3 5A0A B C
4 930C,D,E

Options :

22742726537. 1
22742726538. 2
22742726539. 3

22742726540. 4

Question Number : 111 Question Id : 2274276812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"The union of these men with the congress is the union of a diseased limb to a healthy body, and only remedy
i5 surgical severance if the congress is to be save from death by blood poisoning’

(A). Expressed by Mahatma Gandhi

(B). Said Madan Mohan Malavia

(C). Wrote HA. Wadya

(D). Firozeshah Mehta expressed the same opinion

(E). Itis a reflection on the Extremists

Choose the correct answer from the options given below:

(M), (B)and (C
)and (D
)and (E
)and (

only.
only.
only .

and (E) only.

B =

Options :

22742726541. 1
22742726542. 2
22742726543. 3

22742726544. 4

Question Number : 111 Question Id : 2274276812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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C. T2, U g+ 0 fera 1

D. R0 7 ¥ 1 4 g i

E T5 R i g ak & st 2

e e e et o € e Sl TR 1 90 i

1 B3AA B,C
) §94B,C.D
3 590A C.F
4 30CD.E

Options :

22742726541. 1
22742726542. 2
22742726543. 3

22742726544. 4

Question Number : 112 Question Id : 2274276813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements about Arya samaj are correct

(A). The first Dayanand Anglo vedic college was established at Lahore
(B). Swami Shradhananda was the Guru of Dayananda

(C). Satyarth Prakash is the autobiography of Swami Dayanand

(D). Lala Lajpat Rai was associated with Guru kul Kangri

(E). Dayanand was born at Morvi

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (C), (D) and (E) only.
3. (A), (D) and (E) only.
4. (A), (C) and (E) only.
Options :
22742726545. 1
22742726546. 2
22742726547. 3

22742726548. 4

Question Number : 112 Question Id : 2274276813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A. GO e afe® diciel & RITH Gduyd aer | gs ot
B Rl g G B A

C. Gy UBI= WH! e Bl SHBYT B

D. Il cifeldd 39 [odpd divlel U Ygdiferd 41

E. CaFe &1 o Hivdl § gai 4l

I feu e famedl # 9 9ad 3ugdd 3R &I 90+ BifeiL:

1. ®dd A B C
2 $adC D E
3. HddA D, E
4 HAdA C E

Options :

22742726545, 1
22742726546. 2
22742726547. 3

22742726548. 4

Question Number : 113 Question Id : 2274276814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements about Subhash Chandra Bose are correct
(A). He defeated Pattabhi Sitaramayya in congress president election at Tripuri congress in 1939
(B). 'London Thesis' the title of his speech delivered in absentia at London in 1933 at a political conference

(C). He accompanied Deshbandhu Chittaranjan Das as his personal assistant to the Gaya congress session of
1922

(D). 'Indian Pilgrim’ is the title of his unfinished autobiography
(E). He was a member of the Anushilan samiti
Choose the correct answer from the options given below:

and (E) only.
and (E) only.
and (D) only.
and (E) only.
Options :
22742726549. 1
22742726550. 2
22742726551. 3

22742726552. 4

Question Number : 113 Question Id : 2274276814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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E. 4 3f7xiter 9t & wew d

-2 fo 7 faepent 7 2 T SUEd IR &1 I BT

1. HAdA B C E

2 H9dA B.D,E

3 B9dA B,C,D

4 $9AB C.D,E
Options :
22742726549. 1
22742726550. 2
22742726551. 3

22742726552. 4

Question Number : 114 Question Id : 2274276815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Edward Said's orientalism' (1978)

(A). Is a reflection of the work of Orientalists of India

(B). It brought about major shifts in the understanding of the colonial structures

(C). It influenced the African writers

(D). It brought in moods of systematic methodological suspicion about western images of the non-west
(E). All of the above

Choose the correct answer from the options given below:

only.
only.
only.
only.

Options :

22742726553. 1
22742726554. 2
22742726555. 3
22742726556. 4

Question Number : 114 Question Id : 2274276815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B. 39t WerRd&U YHd oyawi ol 31 931 § 1 Siak I gafll

C. 394 3Mpia! o UHIfad gul

D. 39 ey R-Uyd &t uidH sfgal & aR # 54 a [ARRm Si=idl &1 Hia- 3dd g3

E. SWiad 9+t
1d feu e fadheat 4 ¢ Yad Sugad SR &1 9 DI

1. ®ad A B, D
2 $4dB, C,D
3 $ddC, D, E
4 HadA D,E

Options :

22742726553. 1
22742726554. 2
22742726555. 3
22742726556. 4

Question Number : 115 Question Id : 2274276816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"The craving for an interpretation of history is so deep- rooted that, unless we have a constructive outwork over the
past, we are drawn either to mysticism or to cynicism”

(A). Is an expression on history by David Hume

(B). Reflects the opinion of Marxist Historians

(C). Opinion of F. Powicke on the issue of interpretation of history
(D). Is a quote used by E. H. Carr

(E). ltinsists a constructive outlook towards the past

Choose the correct answer from the options given below:

-(A), (B) and (E) only.
D) and (E) only.
and (C) only.
and (E) only.
Options :
22742726557. 1
22742726558. 2
22742726559. 3

22742726560. 4

Question Number : 115 Question Id : 2274276816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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e e e et o € e Sl TR 1 90 i

1 B30A B E
) §94C.D.E
3 G30A B,C
4 §90B,D.E

Options :

22742726557. 1
22742726558. 2
22742726559. 3

22742726560. 4

Question Number : 116 Question Id : 2274276817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l1 with List-l|

List-l List-lI

(Mesolithic) (Chaleolithic)

(A). Tools (). Paintings

(B). Colors (). Seals

(C). Indus (l11). Post paleolithic
(D). Beared man ((IV). Steatite

Choose the correct answer from the options given below:

1..(A) - (), (B) - (1), (C) - (IN), (D) - (IV)
2. (A) - (1), (B) - (I}, (C) - (1), (D) - (IV)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - ()
4. (A) - (), (B) - (IV), (C) - (1), (D) - (1T}

Options :

22742726561. 1
22742726562. 2
22742726563. 3
22742726564. 4

Question Number : 116 Question Id : 2274276817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



It | & Ty i 11 &1 B i

Gl il

HAYYO GO [T g

A. SR | feraman

B. &1 Il {eX

C. iy Il =T YIS0 TR

D. Elelara seHt v Rieras!

A f&u 71T fadedl H 9 Ugl 3R &1 Ig- DIfIg:

1. Adll, B-1, C-ll, DIV
2. Al B-lll, C-ll, DIV
3. Al B-lIl, C-IV, DI
4. Al B-IV, C-IlI, D-lI
Options :
22742726561. 1
22742726562. 2
22742726563. 3

22742726564. 4

Question Number : 117 Question Id : 2274276818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l with List-ll

List List-ll

(A). Kumarsambhava |(1). Fairy tale of the love of a celestial nymph with a mortan

(B). Vikramorvarsiyam|(l1). Narrates the story of wedding of Shiva with Parvati and the birth of kumar, their son

(C). Ritusamhar (). A harem-drama and a court comedy of shunga's time

(D). Malvikagnimitra |(IV). Describe lucidly and graphically the six seasons

Choose the correct answer from the options given below:

1.(A
2 (A
3 (A
4 (A

Il), (B)- (), (C)- (1), (O)- (IV
Il), (B) - (1), (C) - (1), (D) - (I
), (B)-{1), (C)- V), (D) - (I

)-(
)-(
)-( |
)-(ll), (B) - (IV), (C) - (1), (D) - (I

)
)
)
)
Options :

22742726565. 1
22742726566. 2
22742726567. 3

22742726568. 4

Question Number : 117 Question Id : 2274276818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



It | & Ty i 11 &1 B i

Gl Rkl

A FARTHT | feon o (Fem) @5t 9T & Ty vom &

B. fawwidieam |1 59+ fRra- urddt fdarg ok 3% 99 $HR & & &1 auiH &
C. BUER Il 53 ATed SR Y ST exan g7

D. AafawIy B |Iv. 59 B: Hgeil o1 wy i fafad e g1

A f&u 71T fadedl H 9 Uel 3R &1 Ig- DI

1. Al B, C-, DIV
2 Al Bl C-IV, D-II
3. Al B-l, CIV. DIl
4 Al BV, C-Il. Dl

Options :

22742726565. 1
22742726566. 2
22742726567. 3

22742726568. 4

Question Number : 118 Question Id : 2274276819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l1 with List-l|

List-l List-lI

(A). Sandhi (). Neutrality

(B).Asana (). Making preparation for attack without actually declaring war

(C). Samsvayal(lll). Seeking the protection of another

(D). Yana (IV). Treaty of peace or alliance

Choose the correct answer from the options given below:

1.(A) - (), (B) - (), (C) - (IV), (D) - (Hi)
2. (A) - (), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
4. (A) - (IV), (B) - (1), (C) - (1), (D) - (11)

Options :

22742726569. 1
22742726570. 2
22742726571.3
22742726572. 4

Question Number : 118 Question Id : 2274276819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



It | & Ty i 11 &1 B i
Gl Ll

A Ef | demEl

B. A (Il T &I giwon fa fa 8t smpa &t cand &
C. TS |IIl. <7 Sfc @1 TLET AT

D.OF  |Iv. =ifg a1 S amat

- 76U U fa@eal # ¥ Ul 3 ol 994 DifuIe:

1. All, B-l, C-IV, DAl
2. A, B-ll, G-Il D-IV
3. AL, BN, CHL DIV
4. AV, B-l, C-llI, D-I

Options :

22742726569. 1
22742726570. 2
22742726571. 3

22742726572. 4

Question Number : 119 Question Id : 2274276820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l1 with List-l|

List-l List-ll
(A). Kalibangan (). Shn Venkateshwara temple
(B). Tirupati (). Indus valley

(C). Jammu & Kashmir|(lll). Lothal

(D). Gujarat (IV). Martand temple

Choose the correct answer from the options given below:

1.(A) - (), (B) - (), (C) - (1), (D) - (IV)
2. (A) - (IV), (B) - (1), (C) - (1), (D) - ()
3. (A) - (), (B) - (1), (C) - (1), (D) - (IV)
4. (A) - (), (B) - (IV), (C) - (1), (D) - ()

Options :

22742726573 1
22742726574. 2
22742726575. 3
22742726576. 4

Question Number : 119 Question Id : 2274276820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



It | & Ty i 11 &1 B i

Gl Ricllll

A. ST | 4t depcaR Hiex

B. faeufa Il Ryarel

C. TH SR FHR |, Ta

D. TR V. FITS Hiex

A f&u 71T fadedl H 9 Ugl 3R &1 Ig- DIfIg:

1. AL, B-l, C-ll, DIV
2. AIV, B-lll, C-ll, D-I
3. A, B-ll, ClI, DIV
4. AL BV, C-ll, DI
Options :
22742726573. 1
22742726574. 2
22742726575. 3

22742726576. 4

Question Number : 120 Question Id : 2274276821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l1 with List-l|

List-l List-ll

(A). Kumarpal chantra sangraha |(I). Vakpatiraj

(B). Gaudvaho (I1). Rajshekhar
(C). Hammir Mahakavya (Ii1). Jain Acharya Hemachandra
(D). Prabandh kosh (IV). Nayanchandra Sun

Choose the correct answer from the options given below:

1. (A) - (), (B) - (IV), (C) - (1T}, (D) - (1)
2. (A) - (), (B) - (1), (C) - (IV), (D) - (1I)
3. (A) - (I, (B) - (IV), (C) - (1), (D) - ()
4. (A) - (), (B) - (1), (C) - (1), (D) - (IV)

Options :

22742726577. 1
22742726578. 2
22742726579. 3
22742726580. 4

Question Number : 120 Question Id : 2274276821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i | b Y G 1l BT e B

I | =l |

A. FER UIe Iid HUE |I. TrEid T

B. Titgam! Il TAEET

c. g4k HETET I, o = eHasR
D. VEuSE IV =g =g gl

2 e o faweat # | Uet SO &1 9a4 Sifar:

1. Al B-IV, C-llI, D-I
2. Al B-l, C-IV, DA
3. Alll, B-IV, C-ll, D-l
4. A-l, B-Il, C-Il, D-IV



Options :

22742726577. 1
22742726578. 2
22742726579. 3
22742726580. 4

Question Number : 121 Question Id : 2274276822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Match List-l with List-l|

List-l List-ll

(A). Dabir (I). Master of ceremonies

(B). Sar-i-Naubat |(II). Helped the king with his correspondence

(C). Majumdar  ((lll). Commanded army

(D). Chrtanis (IV). Accountant

Choose the correct answer from the options given below:

1.(A) - (1), (B) - (In), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (I}, (C) - (IV), (D) - (1I)
3. (A) - (I, (B) - (In), (C) - (1), (D) - (IV)
4. (A) - (I, (B) - (1), (C) - (1), (D) - (IV)

Options :

22742726581. 1
22742726582. 2
22742726583. 3

22742726584. 4

Question Number : 121 Question Id : 2274276822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

it | & iy gl 11 &1 A Sifee:

Il | =l |

A EEIR |. FARIE &1 94

B. TI-U-ad|l. I i THER & H Terdl Sa ol
C. Ho[HER |l ¥ 1 FAE

D. fefw  |Iv. tEER

il U U fadedl § U T8l IR &1 98 Difog:

1. A, B-ll, C-lI, D-IV
2. A, B-lIl, C-1V, DA
3. Al B, Cl, D-IV
4. A-ll, B, C-Il, D-IV

Options:

22742726581. 1
22742726582. 2
22742726583. 3

22742726584. 4

Question Number : 122 Question Id : 2274276823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match List-l1 with List-l|

List-l List-1l

(A). Bag Zar-i-Afshan((l). Akbar

(B). Buland darwaja |(Il). lltutmish

(C). Man mandir (1i1). Babur

(D). Haud-i-shamsi  ((IV). Raja Man Singh Tomar

Choose the correct answer from the options given below:

1..(A) - (), (B) - (1), (C) - (IV), (D) - (1)
2. (A) - (i), (B) - (In), (C) - (1), (D) - (IV)
3. (A) - (), (B) - (1), (C) - (IV), (D) - (1I)
4. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

Options :

22742726585. 1
22742726586. 2
22742726587. 3
22742726588. 4

Question Number : 122 Question Id : 2274276823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



It | & Ty i 11 &1 B i
Gl il

A. TATGIR SHBEI || SfaT

B. GUiG oXarell (Il Seiee

C. 7 Hfex Il aTaR

D. Bl -5 - Tt |1V, T 9 e
i f&u U fadedl § U gl 3a) &1 98 difoig:

1. All, B-lll, C-IV, Dl
2. Al B-ll, C-l, DIV
3. Al BA, C-1V, DA
4. AL, B, C-lI, D-IV

Options :

22742726585. 1
22742726586. 2
22742726587. 3
22742726588. 4

Question Number : 123 Question Id : 2274276824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l1 with List-l|

List-l List-1I

(A). Raja Ram mohan Roy ((1). Adi brahma samay

(B). Atma Ram Pandurang |(Il). Brahma samaj

(C). Keshav chandra Sen  ((IlIl). Atmiya sabha

(D). Devendra Nath Tagore|(IV). Prathna samayj

Choose the correct answer from the options given below:

1. (A) - (), (B) - (IV), (C) - (1), (D) - (1)
2. (A) - (), (B) - (IV), (C) - (1), (D) - ()
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (1T}
4. (A) - (1), (B) - (1), (C) - (IV), (D) - (1T}

Options :

22742726589. 1
22742726590. 2
22742726591. 3
22742726592. 4

Question Number : 123 Question Id : 2274276824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



It | & Ty i 11 &1 B i
Gl It il

A. T I HIEH ¥4 |1 31e 7gH TH
B. STATTH TIGET I 95H T
C.HEATE YT |l STHT THI
D. A5 AU SR |IV. W TE

- 76U U fa@eul # ¥ Ug! 3 ol 99 Difore:

1. Al B-IV. C-II, D-l
2 Al BV, C-ll. Dl
3. Al B-Il, CIV, D-Ill
4 Al B, CIV. DIl

Options :

22742726589. 1
22742726590. 2
22742726591. 3

22742726592. 4

Question Number : 124 Question Id : 2274276825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l with List-l|

List-l List-ll
(A). Bankipur congress session, 1912 (1. Hakim Ajmal Khan
(B). Calcutta congress session, 1906 (I1). Annie Beasant

(C). Ahmedabad congress session, 1921 (1I1). Raghunath Narsiha Mudholkar

(D). Calcutta congress special session , 1917|(IV). Dada bhai Navrojee

Choose the correct answer from the options given below:

1. (A) -
2 (A)-
3. (A) -
4 (A)-

1), (B) - (IV), (C) - (1), (D) - (1)
i), (B) - (IV), (C) - (1), (D) - (1)
i), (B) - (1), (C) - (), (D) - (IV)
V), (B) - (1), (C) - (In), (D) - (11T

— — e —

Options :

22742726593. 1
22742726594. 2
22742726595. 3

22742726596. 4

Question Number : 124 Question Id : 2274276825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



It | & Ty i 11 &1 B i

Gl Ll

A GBI HIUY I9EH, 1912 |. BB SfaHT @i

B. Hodal H1Ud SifHdEH, 1906 Il Tt S¥E

C. e B AUGEE, 1921 |11 LAY 7R 5 HeiosT
D. Tl B AR HEEH 1917 IV, ST HTS AR

A f&u 71T fadedl H 9 Uel 3R &1 Ig- DI

1. All, B-IV, C-I, DAl
2 Al BV, C-1, DIl
3. Al B-I, C-I, D-IV
4 AV B, C-II, D-III

Options :

22742726593. 1
22742726594, 2
22742726595. 3

22742726596. 4

Question Number : 125 Question Id : 2274276826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l1 with List-l|

List-l List-l

(A). Marc Bloch (1. History theory and method

(B). E. H. carr (II). The practice of history

(C). Eric Hobsbawm|(lll). The historian's craft

(D). Sheikh Al (IV). What is history

Choose the correct answer from the options given below:

1..(A) - (1), (B) - (I, (C) - (IN), (D) - (IV)
2. (A) - (1), (B) - (IV), (C) - (1), (D) - (1T}
3. (A) - (), (B) - (1), (C) - (IV), (D) - (1I)
4. (A) - (), (B) - (IV), (C) - (1), (D) - ()

Options :

22742726597. 1
22742726598. 2
22742726599. 3
22742726600. 4

Question Number : 125 Question Id : 2274276826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



It | & Ty i 11 &1 B i

Gl Il
A. T &l |. fedt it wos Aus
B5 T &R I & Hfdey aifs et

G-qﬁfﬁ . & et siee

HESEIL]

D. B 3feit V. gaIE 59 B!

I fu U fadedl § U G981 IR &1 98 Difg:

1. A, B-lll, C-ll, D-IV
2. Al B-Iv, C-, DI
3. Al B, C-IV, DAl
4. A, B-IV, C-lI, DI
Options :
22742726597. 1
22742726598. 2
22742726599. 3

22742726600. 4

Question Number : 126 Question Id : 2274276827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The character of bhagawan Shr Krishna teaches about -
(A). Vishwatatva

(B). Place of everyone in one's life

(C). True friendship

(D). Balancing of emotions

(E). terivolous character

Choose the correct answer from the options given below:

1. (E), (C), (D), (A)
2. (A), (B), (C), (D)
3. (B), (E), (C), (D)
4. (A), (D), (E), (B)
Options :
22742726601. 1
22742726602. 2
22742726603. 3

22742726604. 4

Question Number : 126 Question Id : 2274276827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



WA Hipwr & 3TaRvl ¥ 4 Fifrd # @ fhad ar # fRien fiad &
A fayda

B. Sfdk & wilad H U odidd &l R

C. Gl 71

D. HIGHT3T B Ha

E. B3 U (PUYUf 1<)
i feu T fawedl § T T8l SR &1 90H DIl

1.E,C DA
2.A,BCD
3B EC I}

4 A,D E,B
Options :
22742726601. 1
22742726602. 2
22742726603. 3

22742726604. 4

Question Number : 127 Question Id : 2274276828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Reasons for continuous existance of Jainism in India are -
(A). Live and let live

(B). Ahimsa Paramodharmah

(C). Trade and commerce

(D). Nature of blood for blood

(E). Human freternity

Choose the correct answer from the options given below:

1. (E), (C), (D), (B)
2. (A), (B), (C), (E)
3. (D), (B), (A), (C)
4. (B), (D), (C). (E)
Options :
22742726605. 1
22742726606. 2
22742726607. 3

22742726608. 4

Question Number : 127 Question Id : 2274276828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HRA H oHYH & Jaq SH&id & SR &

A Toraf SR iH &t

B. ffgqr uzHiLH

C. MR 3fR qIfored

D. G- & g6 G i Udpld

E. AFd defd

=i g e fapeul # 4 el SR &1 997 PING:

1.E,C DB
2 ABCE
3.D,B,A C,
4BD,C,E

Options :

22742726605. 1
22742726606. 2
22742726607. 3

22742726608. 4

Question Number : 128 Question Id : 2274276829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Write the following in the chronological order

(A). Coronation of Ashoka, the Maurya King

(B). Yueh-chi tribe were defeated and expelled from chinese Turkestan
(C). Assassination of Brihadratha, the last Maurya king by Pushyamitra
(D). Alexander defeated Darius Il and burnt his capital persepolis

(E). Fight between Alexander and Porus

Choose the correct answer from the options given below:

1. (D), (B), (A), (C), (B).
2. (A), (E), (D), (C), (B).
3. (E), (A), (D), (C), (B).
4. (B), (E), (A), (D), (C).
Options :
227427266009. 1
22742726610. 2
22742726611.3

22742726612. 4

Question Number : 128 Question Id : 2274276829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fgifd ®f HIaHAIYR aRyd Bifo

A HId THIE =1 BT AIHUD

B. gl €139 o GRS &R 3¢ diH & dieaH o Fshiirg fasan man Al

C. Sifaq 71 A (FHIe) B HiEE gRI gl

D. Rydhex = 3w - ®I Wiford fban 3R Iu®1 il gftivifery &1 e fear
E. e 3R URY & A9 guy

- fGu U G@eal # © U8l SR o1 99 Difore:

1.D,EACB
2AEDCB
3EEADCB
4 B,E,ADC
Options :
227427266009. 1
22742726610. 2
22742726611.3

22742726612. 4

Question Number : 129 Question Id : 2274276830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In India, VARNASRAMA DHARMA denotes importance of
(A). Intellectual ability

(B). Power to protect the new kings of society

(C). Importance of trade and commerce

(D). Necessity of toilers and workers

(E). Encourages caste system

Choose the correct answer from the options given below:

1. (B), (C), (B), (D).
2. (A), (E), (D), (B).
3. (A), (B), (C), (D).
4. (C), (E), (A), (D).
Options :
22742726613. 1
22742726614. 2
22742726615. 3

22742726616. 4

Question Number : 129 Question Id : 2274276830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



yRd H quifsm ef & fFgiftra § ¥ fhget Hew efid s &
A difg® i

B. THIN & BRI HRUI DI I PR B Wfcd

C. SMUR R q110rd BT Hgd

D. ##! 3R PHDRI B SHTTRGDhdl

E. 59+ Siifd vy & derar fear T gl

- fau e fdoedl H 4 981 SR &1 99 HifeIg:

1.:E =5 1)

2. A E DB
3.A,B,C,D

4 C,E A D
Options :
22742726613. 1
22742726614. 2
22742726615. 3

22742726616. 4

Question Number : 130 Question Id : 2274276831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



India from the beginning belived in Agrobased industries because growth in—-
(A). Agricultural output

(B). Metallurgical Industry

(C). Cottage Industry

(D). Foreign Currency reserves

(E). One-to-one need base

Choose the correct answer from the options given below:

1..(B), (C), (D), (E).
2. (D), (B), (A), (C).
3. (A), (B), (C), (E)
4. (E), (B), (A), (C).
Options :
22742726617. 1
22742726618. 2
22742726619. 3

22742726620. 4

Question Number : 130 Question Id : 2274276831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R BIe U 51 HRA PIY HeIRG ST H A4 1 o1 391 DRY| (ifcha # U fob et H g o
A P TG

B. UIq®H JaM

C. HER I
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1.B,C,D,E
2.D,B,A C
3ABCE
4 EBAC
Options :
22742726617. 1
22742726618. 2
22742726619. 3

22742726620. 4

Question Number : 131 Question Id : 2274276832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Establishment of Hindu colonies outside India are the efforts of -
(A). Pallavas

(B). Cholas

(C). Vijaya Napara Rulers

(D). Khiljis

(E). Mauryas

Choose the correct answer from the options given below:

1.(B), (A), (D), (E).
2. (C), (B), (D), (A).
3. D), (C), (B), (A).
4. (A), (B), (C), (E).
Options :
22742726621. 1
22742726622. 2
22742726623. 3

22742726624. 4

Question Number : 131 Question Id : 2274276832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A. Uceld

B. il

C. favig 7R & IHD

D. faait

E. A

- fau e fdoedl H 4 981 SR &1 99 HifeIg:

1.B,A D E
2.C, B DA
3.D,CB,A

4 A, B, CE
Options :
22742726621. 1
22742726622. 2
22742726623. 3

22742726624. 4

Question Number : 132 Question Id : 2274276833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order

(A). The portugese Viceroy of Goa sends antonio cabral as an ambassador to Akbar's court
(B). Completion of Humayun's mausoleum at Delhi

(C). Death of Rani Durgavari

(D). Death of Raja Todarmal

(E). The battle of haldighati is faught between Maharana pratap and mughal army

Choose the correct answer from the options given below:

D
C
D
C

E
A
C
B

A), (B
D), (E
(A), (B
(E), (A

(
B
E
D

1 Ll

— pp—

A
 (A), ( A
 (C), A

— e
P S S S
B

)
)
)
)

o . . .

1,
2
3
4.

— pp—

1 El

Options :

22742726625. 1
22742726626. 2
22742726627. 3

22742726628. 4

Question Number : 132 Question Id : 2274276833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742726625. 1
22742726626. 2
22742726627. 3

22742726628. 4

Question Number : 133 Question Id : 2274276834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order

(A). First mention of spinning wheel in India

(B). Paper found at mansura sindh

(C). First mention of cylinder and piston syringe mentioned by monserrate
(D). First Indian reference of sand-clock

(E). Zinc isolated by distillation process at zawar

Choose the correct answer from the options given below:

1. (A), (B), (C), (D), (E).
2. (B), (E), (A), (D), (C).
3. (A), (E), (B), (C), (D).
4. (B), (A), (E), (D), (C).
Options :
22742726629. 1
22742726630. 2
22742726631. 3

22742726632. 4

Question Number : 133 Question Id : 2274276834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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- fau e fdoedl H 4 981 SR &1 99 HifeIg:

1.ABCDE
2B, EADC
3AEBCD
4 B,A EDC
Options :
22742726629. 1
22742726630. 2
22742726631. 3

22742726632. 4

Question Number : 134 Question Id : 2274276835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in the ascending correct chronological order of their establishment
(A). Macdonnell commission

(B). Campbell commission

(C). Layall commission

(D). Hunter commission

(E). Stratchey commission

Choose the correct answer from the options given below:

Options :

22742726633. 1
22742726634. 2
22742726635. 3

22742726636. 4

Question Number : 134 Question Id : 2274276835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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E. @l HHRH

- fau e fdoedl H 4 981 SR &1 99 HifeIg:

1.ABCDE
2 CEDBA
3B ED CA
4 D,A B CE
Options :

22742726633. 1
22742726634. 2
22742726635. 3

22742726636. 4

Question Number : 135 Question Id : 2274276836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in the ascending correct chronological order of their occurence
(A). Muzaffarpur conspiracy case

(B). Lahore conspiracy case

(C). Kakori conspiracy case

(D). Meerut conspiracy case

(E). Kanpur conspiracy case

Choose the correct answer from the options given below:

1. (C), (A), (E), (D), (B).
2. (A), (E), (C), (D), (B).
3. (B), (D), (C), (E), (A).
4. (A), (B), (D), (C), (E).
Options :
22742726637. 1
22742726638. 2
22742726639. 3

22742726640. 4

Question Number : 135 Question Id : 2274276836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fgiferd i afed giH & SM1HR W gl dicishA H aieyd Piforg
A HOBIR §a4UA UDH0

B. TIER YSUA YHUl

C. DIDRI T5UT UHUl

D. TRS ¥S4A Uh0l

E. @YX 9543A UDHUI

- fGu U G@eal # © U8l SR o1 99 Difore:

1.C,A E D B
2AECDB
3BDCEA
4 A,B,D,CE
Options :
22742726637. 1
22742726638. 2
22742726639. 3

22742726640. 4

Question Number : 136 Question Id : 2274276837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) : Its only during Neolithic times that the settlement pattern of human beings came into existence.
Reason (R) : During Paleolithic and Mesolithic fimes human beings, perhaps did not think of settling at one place.
In light of the above statements, choose the correct answer from the options given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) 1s true but (R) is false.

4. (A)1s false but (R) is true.

Options:



22742726641. 1
22742726642. 2
22742726643. 3

22742726644. 4

Question Number : 136 Question Id : 2274276837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726641. 1
22742726642, 2
22742726643. 3

22742726644. 4

Question Number : 137 Question Id : 2274276838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) : Emperor Asoka in his Rock edict - XIIl says, he maintains equal respect for Brahmanas and
Sravanas

Reason (R) : He believed in Sarv dharma samabhava
In light of the above statements, choose the most appropriate answer from the options given below .

1. Both (A) and (R) are correct and (R) is the comect explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A)1s correct but (R) is not correct.

4. (A) s not correct but (R) is correct.

Options :

22742726645. 1
22742726646. 2
22742726647. 3
22742726648. 4

Question Number : 137 Question Id : 2274276838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742726645. 1

22742726646. 2



22742726647. 3
22742726648. 4

Question Number : 138 Question Id : 2274276839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Guru Nanak was an eye-wimess of general massacre and the freatment meted out to the people by
Babur when he invades India in 1521.

Statement (Il): The mughal emperors were conscious of the growing importance of the sikh gurus and tried to
engage them in order to influence and if possible, to control them

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are correct.

2. Both Statement (1) and Statement (I1) are incorrect.
3. Statement (1) is correct but Statement (11 is incomect.
4 Statement (1) is incorrect but Statement (I1) is comect.

Options:

22742726649. 1
22742726650. 2
22742726651.3

22742726652. 4

Question Number : 138 Question Id : 2274276839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726649. 1
22742726650. 2
22742726651. 3

22742726652. 4

Question Number : 139 Question Id : 2274276840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) : Land grants were given to only Brahmins.

Reason (R) : Such grants are not based on caste. Even barbers were given during the Vijaya nagar kingdom's rule.
In light of the above statements, choose the correct answer from the options given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A).
3. (A) s true but (R) is false.

4 (A)is false but (R) is true.

Options:

22742726653. 1

22742726654. 2



22742726655. 3
22742726656. 4

Question Number : 139 Question Id : 2274276840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726653. 1
22742726654, 2
22742726655. 3

22742726656. 4

Question Number : 140 Question Id : 2274276841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) : Pali language, which was once limited to certain areas of east India, during Buddhist period became
more popular.

Reason (R) . Because Buddha adopted Pali for his works saying- Pali Dharmanusasanam.
In light of the above statements, choose the correct answer from the options given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A)1s frue but (R) is false.

4. (A) s false but (R) is true.

T gl

Options :

22742726657. 1
22742726658. 2
22742726659. 3
22742726660. 4

Question Number : 140 Question Id : 2274276841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742726657. 1

22742726658. 2



22742726659. 3

22742726660. 4

Sub-Section Number : 2
Sub-Section Id : 227427267
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 2274276842 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the following Passage and answer the questions

Bhau did not get any additional reinforcements from the south. He made a great mistake in not guarding adequately
the forts at the Jamuna and maintain his connection with the south. In this battle the Marathas were routed and
defeated completely. It was a disaster to them. Vishwas Rao and Sadashiv Rao Bhau were killed. Most of the
officers fell. A large part of the forces were massacred and annihilated. The remnants were pursued and
slaughtered. A large amount of booty was captured by the victors. The total loss of the Marathas is estimated at
50,000 horses, 2,00,000 cattle, thousands of camels, hundreds of elephants and a large amount of cash and
Jewellry.

Sub questions

Question Number : 141 Question Id : 2274276843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The following passage refers about which important battle

1. Battle of Khanwa

2. Battle of Panipat 11I"d
3. Battle of Chamkaur
4 Battle of Bilgram



Options :

22742726661. 1
22742726662, 2
22742726663. 3

22742726664. 4

Question Number : 142 Question Id : 2274276844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who was the Commander- in- Chief in this battle?

1. Govind Ballal Bundela
2. Sadashiv Rao Bhau
3. Vishwas Rao

4 Sabaji Scindia
Options :
22742726665. 1
22742726666. 2
22742726667. 3

22742726668. 4

Question Number : 143 Question Id : 2274276845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What were not consequences of this war ?

1. The Marathas lost their support in North India

2. The Marathas lost heavily in men, money and military power

3. Peshwa Balaji Rao died soon after hearing the news of terrible disaster
4 It paved the way of Ahmad Shah Abdali to carve a kingdom in North India

Options:

22742726669. 1



22742726670. 2
22742726671. 3

22742726672. 4

Question Number : 144 Question Id : 2274276846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following was an eyewitness of this war ?

1. Sambhaji Mohite
2. Kashiraj Pandit
3. Guru Ramdas

4 Kanhoji Angria

Options :

22742726673. 1
22742726674. 2
22742726675. 3

22742726676. 4

Question Number : 145 Question Id : 2274276847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which was not one of the reasons for the defeat of the Marathas ?

1. All the Muslim leaders of the north combined against the Marathas

2. The Hindu rulers except Suraj Mal Jat did not join and supported Bhau

3. The Marathas fall short in fighting and doing glorious deeds

4. There were differences about the plan of campaign among the Maratha chief themselves

Options :

22742726677. 1
22742726678. 2
22742726679. 3



22742726680. 4

Question Id : 2274276842 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 2274276843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742726661. 1
22742726662. 2
22742726663. 3
22742726664. 4



Question Number : 142 Question Id : 2274276844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
39 g {3 YAl DI U1?
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2. YeIf2Id 39 4%
3 faymg g

4. grarsi f&femr
Options:
22742726665. 1
22742726666. 2
22742726667. 3

22742726668. 4

Question Number : 143 Question Id : 2274276845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726669. 1
22742726670. 2
22742726671. 3

22742726672. 4

Question Number : 144 Question Id : 2274276846 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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1. Givrel #ifgd

2. BRI Ufsd
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Options :

22742726673. 1
22742726674 2
22742726675. 3

22742726676. 4

Question Number : 145 Question Id : 2274276847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742726677. 1
22742726678. 2
22742726679. 3

22742726680. 4

Sub-Section Number : 3
Sub-Section Id : 227427268
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Is Section Default? : null



Question Id : 2274276848 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

Read the following Passage and answer the questions

The wirters who profess to write the history of the Revolution that was enacted in India in 1857 do not try to discuss
the real causes that led to it. On all great religious and political revolutions it is impossible to connect together the
links apparently inconsistent without thoroughly understanding the principles which are at work. Mazzini in a crifical
article on Carlyle's French Revolution has said that every revolution must have a fundamental principle. A
revolutionary movement cannot be based on fimsy and momentary grievances.What types of mistakes the English
authors have committed in writing the history of Revolutionary war. Their accounts have been based on misleading
and unjust ideas one which changes or distorts the whole spirit of Revolution is the device of The English historian
of namely describing the rumour of greased cartridges as the moving cause of the Revolt. Equally misleading is the
theory that the rising was due to the annexation of Oudh. The great principles were Swadharma and Swaraj. In the
thundering room of ‘Din Din’ which rose fo protect religion when there were evident signs of cunning, dangerous
and disruptive attack on religion dearer than life and in terrific blows dealt at chains of slavery with holy desire of
acquiring Swaraj. In the proclamiation of the establishment of Swaraj. The emperor of Delhi says, Hindus and
Mohomedans of India, Arise Brethren of all the gifts of God the most gracious is the gift of God.
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Who is the cntical of Carlyle’s account of the French Revolution?

1. Bismark
2. Ganbaldi
3. Mazzini
4 Gibbon

Options :

22742726681. 1



22742726682. 2
22742726683. 3

22742726684. 4

Question Number : 147 Question Id : 2274276850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who gave the call to the Hindus and the Muslims to rise together for Swaraj?

1. Nana Saheb

2. Maulvi Azimullah

3. Bahadur Shah Jafar
4 Begum Hazrat Mahal

Options :

22742726685. 1
22742726686. 2
22742726687. 3
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What does ‘Din Din" mean . Tick the correct option?

1. Protection of Hinduism only

2. Protection of Islam only

3. Protection of one's own religion
4 Protection of no religion

Options :

22742726689. 1
22742726690. 2
22742726691. 3
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Which amongst the following was the moving cause of the Revolt?

1. Annexation of Oudh

2. Social Reform

3. Construction of Railways
4. Greased cartridges

Options :

22742726693. 1
22742726694, 2
22742726695. 3
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Correct Marks : 2 Wrong Marks : 0

Which is incorrect about the history writing of the Revolt?

1. A Revolutionary Movement cannot be based on flimsy and momentary grievances

2. The English authors have given a correct account of the Revolt

3. The great principles were Swadharma and Swaraj

4. Itis impossible to connect the inconsistent links of all great revolutions with understanding the true causes.

Options :

22742726697. 1
22742726698. 2
22742726699. 3

22742726700. 4
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